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Question Number : 1 Question Id : 8513303904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following ratios of physical quantities has the same dimensions as that of
pressure?

1. Force/Length
2. Energy/Area

3. Energy/Volume
4. Force/Volume
Options :
85133015601. 1
85133015602. 2
85133015603. 3
85133015604. 4

Question Number : 1 Question Id : 8513303904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. 901 / TS
2. 34l / &FHA
3. Hol / A
4. 90 / 3T
Options :
85133015601. 1
85133015602. 2
85133015603. 3
85133015604. 4

Question Number : 2 Question Id : 8513303905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The main scale of a vernier callipers has least count of Tmm. 50 vernier division coincide with
49 divisions of main scale. The vernier constant of the callipers is

1. 0.01 cm

2. 0.005 cm

3. 0002 cm

4, 0.001 cm
Options :
85133015605. 1
85133015606. 2
85133015607. 3
85133015608. 4

Question Number : 2 Question Id : 8513303905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. 0.01 cm

2. 0.005 cm

3. 0.002 cm

4. 0.0071 cm
Options :
85133015605. 1
85133015606. 2
85133015607. 3
85133015608. 4

Question Number : 3 Question Id : 8513303906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Siemens is the Sl unit of

1. Thermal conductivity
2. Electrical conductivity
3. Amplification factor
4. Impedance

Options :

85133015609. 1
85133015610. 2
85133015611. 3
85133015612. 4

Question Number : 3 Question Id : 8513303906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. ST DTt
2. faggd arded
3. A1 Ui
4, Ufciaren
Options :
85133015609. 1
85133015610. 2
85133015611. 3
85133015612. 4

Question Number : 4 Question Id : 8513303907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The component of vector 4 = 3i + 4j along the direction of B = — j is given as

1. —[30 + 4j]

1 - -
2.;3[3:+-ﬂ]
3.%[33+4§]

]' - -
Options :
85133015613. 1
85133015614. 2

85133015615. 3
85133015616. 4

Question Number : 4 Question Id : 8513303907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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B=i—joI e sfeu Ol 4 = 37+ 4jPTTD &

1. —[31 + 4j]
1

2—3i+ 4
ﬁ[ j]

1
5. —[31+ 4j
5[ j]

1
4, En.,_*'i[SH 4j]
Options :
85133015613. 1
85133015614. 2
85133015615. 3
85133015616. 4

Question Number : 5 Question Id : 8513303908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A car moving in positive x direction is retarded uniformly. Which one of the following velocity-
time graphs correctly represents the motion of the car?

1.
t
Vi
3 *t
L
T
T,
2 ~—
T,
H""x
Wk
3.
t
vk
4

~ %

Options :

85133015617. 1
85133015618. 2
85133015619. 3
85133015620. 4

Question Number : 5 Question Id : 8513303908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

71199



9/18/2020

YD G2 F 71 Bdl el SR @I UhaAM Higd [dl 741 g1 1 f&a1 T4 &1 91 37-999

B, HR B T & Gal =g sl g ?
W
1.
>
T
vV ok
>
2
W ok
3,
>
t
Y
4,
>
t
Options :

85133015617. 1
85133015618. 2
85133015619. 3
85133015620. 4
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Question Number : 6 Question Id : 8513303909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A ball is thrown vertically upward from a tower 105m high with an initial velocity 20m/s. How
long does the ball take to reach the ground? (g=10m/s?)

1. 3s

2. 58

3.7s

4. 65

Options :
85133015621. 1
85133015622. 2
85133015623. 3
85133015624. 4

Question Number : 6 Question Id : 8513303909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

105m $dl {64l HHR U B3 171G 20 m/s & &1 ¥ HER FW Gl T 81 4Rl R uga- & 08
g a1 99T @l (g=10m/s9)

1. 3s

2. 58

3.7s

4. 6s

Options :
85133015621. 1
85133015622.2
85133015623. 3
85133015624. 4
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Question Number : 7 Question Id : 8513303910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Two trains A and B are moving parallel to each other in opposite direction with veocity va and
vg respectively. A monkey is running on the roof of the train A, with a velocity vy (w.r.t. train A)
opposite to va. The velocity of the monkey observed by a person on the ground will be

1. va- v
2.Va + Vg

3. Vg + Vg -V
4 vpg - v + W
Options :
85133015625. 1
85133015626. 2
85133015627. 3
85133015628. 4

Question Number : 7 Question Id : 8513303910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

&l YISt A 3R B U IR o U=k [qudid fE=mefl o Huer: v, 3R v 371 Y ifaaH 8| ol
T TS A B Bd WV, T 62N & AT 3T vy, TGI8 Wl ol 2=l R @ gl wafad &l
TG P G T -

1. V-V

2. 1"."r_.f,|+1'u'r|\._.1

3. Vg+V-Va
= UB‘U“‘I‘U_&
Options :
85133015625. 1
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85133015626. 2
85133015627. 3
85133015628. 4

Question Number : 8 Question Id : 8513303911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A ball is thrown upward at an angle of 45° with the vertical with a velocity v. During its entire
journey, we can say,

1. its total momentum will be constant

2. its total kinetic energy will be constant

3. its vertical component of momentum will be constant

4. its horizontal component of momentum will be constant
Options :

85133015629. 1

85133015630. 2

85133015631. 3

85133015632. 4

Question Number : 8 Question Id : 8513303911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TS 7ig Bl HEMER & 1Y 45 (50 & B0 R IR 31 R TG v S BBl oidl & | STBT T3 TET D
SR, 4 &g 9&d & &I -

1. P T R

2. et Tfcral Soll FUR g1t

3. Had7 @I Tiaad o R g
4. a7 o &lfcrs ged R B

Options :
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85133015629. 1
85133015630. 2
85133015631. 3
85133015632. 4

Question Number : 9 Question Id : 8513303912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Two point masses with masses my = 2g and mg = 3g are connected by a massless rod of
length 1m (see figure below).

The centre of mass of the system will lie at a distance of

- L _ -
L] -

1. 0.4m from mpy
2. 0.6m from mg
3. 0.5m from mg
4, 0.7m from mg
Options :
85133015633. 1
85133015634.2
85133015635. 3
85133015636. 4

Question Number : 9 Question Id : 8513303912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. mA ¥ 0.4m
2. mAd 0.6m
3. mA ¥ 05m
4. mA Y 0.7m
Options :

85133015633. 1
85133015634. 2
85133015635. 3
85133015636. 4

Question Number : 10 Question Id : 8513303913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A body of mass m is moving in a horizontal circle of radius R with a frequency y. The
magnitude of centripetal acceleration acting on the mass is given by

1. amm?2R

2. 4m*vR

3. 4m*v*R

4, Am2v2R2
Options :
85133015637. 1
85133015638.2
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85133015639. 3
85133015640. 4

Question Number : 10 Question Id : 8513303913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

SHH m @1 Bl (UUS o8l R & &fas 9 8 319 9 7Tid & 1 &1 29 U018 R Srikd
HiH s @RI DI YR ST -

1. 4mmv?R

2. 4m*vR

3. 4m*v2R

4, Am2v2R2
Options :
85133015637. 1
85133015638. 2
85133015639. 3
85133015640. 4

Question Number : 11 Question Id : 8513303914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Two identical solid spheres of mass 1.0 kg and radius 5.0 cm are fixed at the ends of a light rod
so that the separation between the centres is 40.0 cm. The moment of inertia of the system
about an axis perpendicular to the rod passing through its midpoint is

1. 2x107% kgm?
2. 41x10°% kgm?®
3. 82x10°% kgm?®
4. 82x10°% kgm?
Options :
14/199
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85133015641. 1
85133015642. 2
85133015643. 3
85133015644. 4

Question Number : 11 Question Id : 8513303914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ST 1.0 kg AR BT 5.0cm & & G499 319 T (7] Gooh] B8 & Rl IR 39 UHR 92 & &
2 7Tidl & sl & sl GYD 40.0 cm &1 Y FdH &1 34 T8 & A fdg U ok 9l oadd
38 & URa: e Tl gRT -

1. 2x10%kg m?
2. 41x10°kg m?
3. 82x10°kg m?®
4. 82x107%kg m?
Options :
85133015641. 1
85133015642. 2
85133015643. 3
85133015644. 4

Question Number : 12 Question Id : 8513303915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A boat of mass 200 kg is accelerated by an engine of power 16 kW. If the boat covers a
distance of 72 km in 2 hours, the acceleration of the boat is

1. 8x102 m/s®
2. 8x1071 m/s?
3.8 m/s*

4. 80 m/s?
Options :
85133015645. 1
85133015646. 2
85133015647. 3
85133015648. 4

Question Number : 12 Question Id : 8513303915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

200kg ZoHH B fardil A1d DI 16kw Xfdd & S0 GRI @Rd [hd1 AT 81 Ofc g Ad 2 8¢ H 72
km G31 99 &l 8, dl 1 BT 0 & -

1. 8x1072 m/s?
2. 8x10°" m/s?
3. 8 m/s”

4. 80 m/s?
Options :
85133015645. 1
85133015646. 2
85133015647. 3
85133015648. 4

Question Number : 13 Question Id : 8513303916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

A ball is moved in earth’s gravitational field as shown in the figure. The work done by the
earth's gravitational force on the ball, as it moves from point A to peoint E along the path
shown is given by, (potential energy is devoted by U)

e t
e \?‘u
B Ny
87 ?c
- ;
i '
Al
1. —[Ug — Ug]

2. —[(Ug — Up) + (Ug — U]
3. —[(Up — Ug) + (Ug — U,)]
4. [Ug — U]

Options :

85133015649. 1
85133015650. 2
85133015651. 3
85133015652. 4

Question Number : 13 Question Id : 8513303916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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E(/ H\I?[:
S
H'{f Tc

- ;
! %
Ak

1. ‘[U}: - UA]

2. —[(UE - Un]' + {UE - Uc}]
3. —[(Uﬂ - Ur:]' + {UE - UA}]
4 [UE' - UA]

Options :

85133015649. 1
85133015650. 2

85133015651. 3
85133015652. 4

Question Number : 14 Question Id : 8513303917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Imagine that there exists a planet whose mass and radius are both half that of the earth. The
acceleration due to gravity on that planet will be

1. g/4

2.9/2

3. 29

4. 4qg

Options :
85133015653. 1
85133015654. 2
85133015655. 3
85133015656. 4

Question Number : 14 Question Id : 8513303917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A AifoE U1 &% 98 & o9l o0d9H SR B gHf ol gl & qa1 8 o g1 d@ S W
& @0 g' &1 °H 8T -

1. g/4

2. g/2

3. 29

4, 4qg

Options :
85133015653. 1
85133015654. 2
85133015655. 3
85133015656. 4

Question Number : 15 Question Id : 8513303918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
19/199
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Three vessels shown below have equal base area. If equal volume of a liquid is poured in each
of them, which of the following statements is correct regarding the force on the base of the
vessels

i F
\ |
Y i/ I_.'
i £ | I
S F '

A B C

1. Force is maximum for A

2. Force is maximum for B

3. Force is maximum for C

4, Forceis same for A, Band C
Options :

85133015657. 1

85133015658. 2

85133015659. 3

85133015660. 4

Question Number : 15 Question Id : 8513303918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A =Y 7Y i 9 § Ud® & YR &1 &Fhd 99 e 4fc 34 uEl H Ud® d 9HH -
B §d 4 91T, o I U & MRl IR g0 & dat § = f&a1 791 19 1 e dy= Yal & 7

1. U A & HYR R gd AHTHaT 2|
2. UH B & HYR R 9d AUHdd 8l
3. UE C & ATYR W §d 3HUHad g
4. dHFTUEl A, B 3R C & YR R g 99H B |

Options :
20/199
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85133015657. 1
85133015658. 2
85133015659. 3
85133015660. 4

Question Number : 16 Question Id : 8513303919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following is NOT a scalar?

1. Viscosity

2. Strain

3. Pressure

4. Force
Options :
85133015661. 1
85133015662. 2
85133015663. 3
85133015664. 4

Question Number : 16 Question Id : 8513303919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fFafied 5 9 oH sfeauir =g e 2

1. I

2. fagpid

3. cld

4, dc]
Options :
85133015661. 1

85133015662. 2
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85133015663. 3
85133015664. 4

Question Number : 17 Question Id : 8513303920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The lengths and radii of four wires made up of same material are given below. Which of these
will have the largest extension when the same tension is applied?

1.L=50cm, r=0.25 mm
2. L=100cm, r=0.5mm
3. L=200cm, r=2mm
4 L=250cm, r=25mm
Options :

85133015665. 1
85133015666. 2
85133015667. 3
85133015668. 4

Question Number : 17 Question Id : 8513303920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
gaFE verd 9 94 IR IR &1 agdi AR Beae 9k &8 | 99H a1 &1 S0aRT @i IR 34
T 7Y, dr d 9ad Y fawRr shm 7

1. L=50cm , r=0.25mm
2. L=100cm , r=0.5mm
3. L=200cm , r=2mm
4, L=250cm, r=2.5mm
Options :

85133015665. 1
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85133015666. 2
85133015667. 3
85133015668. 4

Question Number : 18 Question Id : 8513303921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Two rods A and B having same length of 1 m are at the same temperature 30°C. the co-
efficient of linear expansion of A and B are in the ratio 4:3. At what temperature, the length of
B will be the same as the length of rod A at 180°C?

1. 200°C
2. 230°C
3. 250°C
4, 270°C
Options :
85133015669. 1
85133015670. 2
85133015671. 3
85133015672. 4

Question Number : 18 Question Id : 8513303921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HHH TS, 1 HICY 1 &1 B8 A 3R B §HM 1Y, 30°C, R &1 A 3R 8 & s UHR TUlid] B
HAUId 4: 351 [T AU IR TS B B Iz B9 A B 180°C R T3 o GHH BRIl 7

1. 200°C
2. 230°C
3. 250°C
4. 270°C

23/199



9/18/2020
Options :
85133015669. 1
85133015670. 2
85133015671. 3
85133015672. 4

Question Number : 19 Question Id : 8513303922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A flask contains oxygen and hydrogen in the ratio of 2:1 by mass. The temperature of the
mixture is 27°C. What is the ratio of average kinetic energy of oxygen and hydrogen atoms?

1. 8:1

2. 1:1

3. 48:1

4. 4:1

Options :
85133015673. 1
85133015674. 2
85133015675. 3
85133015676. 4

Question Number : 19 Question Id : 8513303922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ol Tl & HIRIToH SR BI3sio SodHM & TR 2 : 1 3UId H | &80 &1 d1d 27°C 2|
HiFI o IR IS SIoH b GIHTUHT B ST il SHotiafl Dl HIaTd 1 6 ?

1. 8:1

2. 1:1

3.4/8:1

4. 4:1

Options :
85133015673. 1
85133015674. 2
85133015675. 3
85133015676. 4

Question Number : 20 Question Id : 8513303923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

An electric heater supplies 6000) of heat to a system and the system performs 3000 J of work.
What is the increase in the internal energy of the system?

1. 6000)

2. 9000)

3. 3000J

4. Zero
Options :
85133015677. 1
85133015678. 2
85133015679. 3
85133015680. 4

Question Number : 20 Question Id : 8513303923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

s fagqd gieX [dl F®E @ 6000 J ST BI MY &Xdl & 99T HEE 3000) S &7 WG
Bl o1 39 Fiem 3t 3mdRe Sul & fead g et & :

1. 6000)

2. 9000J

3. 3000J

4. Zero
Options :
85133015677. 1
85133015678.2
85133015679. 3
85133015680. 4

Question Number : 21 Question Id : 8513303924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A linear simple harmenic oscillator consisting of block of mass 6 kg and a spring of spring
constant 600 N/m, as shown in the figure. The horizontal surface is frictionless. What is the
time period of oscillation of the oscillator?

A x| ke

1.10s

2.1/10 s
3.063s
4.05s
Options :
85133015681. 1
85133015682. 2
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85133015683. 3
85133015684. 4

Question Number : 21 Question Id : 8513303924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HE ¥ Teds AR HHMFT U S Bls gD W ATl alad G2l T & | T[edh &1 509 6 kg
qUI HHM &1 BHHT HTdi® 600 N/m g1 &fdel g8 guu Aed 81 39 aldd & Gla- &l Hadd

PIA TG ?

A

W

GKg

1.10s

2.1/10 s
3.063s
4.05s
Options :
85133015681. 1
85133015682. 2
85133015683. 3
85133015684. 4

Question Number : 22 Question Id : 8513303925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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For a pipe of length 30cm, closed at one end, the fundamental frequency is
(velocity of sound = 330m/s)

1. 200 Hz
2. 250 Hz
3. 275 Hz
4. 300 Hz
Options :
85133015685. 1
85133015686. 2
85133015687. 3
85133015688. 4

Question Number : 22 Question Id : 8513303925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Uah IR R a5 30cm TETs & [yl Uy &1 9o g 8kl & - (& &1 a7 = 330m/s)

1. 200 Hz
2. 250 Hz
3. 275 Hz
4, 300 Hz
Options :
85133015685. 1
85133015686. 2
85133015687. 3
85133015688. 4

Question Number : 23 Question Id : 8513303926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A metallic wire with mass per unit length 6x107* kg/m is under tension of 60N. What is the
speed of transverse wave in the wire?

1. 100 m/s

2. 500 m/s

3. 600 m/s

4. 10,000 m/s
Options :
85133015689. 1
85133015690. 2
85133015691. 3
85133015692. 4

Question Number : 23 Question Id : 8513303926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Uohich ials SAHM 6x1073 kg/m dTci fddl &g & IR G 60N &1 14 &1 59 dR TR A0
JUT DI AT HANE ?

1. 100 m/s

2. 500 m/s

3. 600 m/s

4, 10,000 m/s
Options :
85133015689. 1
85133015690. 2
85133015691. 3
85133015692. 4

Question Number : 24 Question Id : 8513303927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A wave travelling along a string is described by
v(zx,t) = 0.004 sin(80x — 4t)

in which the numerical constants are in Sl unit. The amplitude and the time period of the wave
is, respectively,

1. 0.004m, 4s
2. 0.,004m, /25
3. 80m, m/2s

4, 80m, 4s
Options :
85133015693. 1
85133015694. 2
85133015695. 3
85133015696. 4

Question Number : 24 Question Id : 8513303927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ol SIKI @7 3G THH [T a1 &1 auiH 59 TSR fahdl T-T & - y(x,1)=0.004 sin (80x-4t)
3OH Sfifhd Fadid S| AFDI | g1 39 a3 &1 AIH 31X aadHd § -

1. 0.004m, 4s
2. 0.004m, /25
3. 80m, m/2s

4. 80m, 4s
Options :
85133015693. 1
85133015694. 2
85133015695. 3
85133015696. 4
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Question Number : 25 Question Id : 8513303928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The terminal velocity of a ball of radius 2mm falling through an oil tank of viscosity 1 kgm™'s
!is 6cmy/s. What is the viscous drag force acting the oil?

1. 2.26x10% N
2.2.26x107° N
3.2.26x102 N
4.226x10T N
Options :

85133015697. 1
85133015698. 2
85133015699. 3
85133015700. 4

Question Number : 25 Question Id : 8513303928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

M ’II~:gr1’1'15'1 & od O 4 fedl St | TRl 2mm Brean &t et mich &1 S 3 e cmy/s
T 39 Tci IR SRR T9H SN §¢ (bl § ?

1. 2.26x104 N

2. 1.2.26x107 N
3.2.26x102 N

4,2.26x107T N

Options :

85133015697. 1

85133015698. 2

85133015699. 3

85133015700. 4
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Question Number : 26 Question Id : 8513303929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A rectangular glass slab transmits only 80% of the intensity of incident light. The fraction of
transmitted light intensity through 4 such identical slabs, placed in contact, will be nearly,

1. 20%

2. 41%

3. 51%

4. 64%
Options :
85133015701. 1
85133015702. 2
85133015703. 3
85133015704. 4

Question Number : 26 Question Id : 8513303929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

®id @l [dl AGAGR UfedhT U STufdd YhT=l &1 diddl &l ddd 80% &l URAIAG gidl & | T4
! 24l UbR &1 IR GduH Ufedrall 9 UHT= i diddl &l YRAET HAT ST, TR+

1. 20%

2. 41%

3.51%

4. 64%
Options :
85133015701. 1
85133015702. 2

85133015703. 3
32/199



9/18/2020
85133015704. 4

Question Number : 27 Question Id : 8513303930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A telescope is used to observe two distant objects 15 km away. If the separation between the
objects is 1.5 m and they are illuminated by light of wavelength 600 nm, the diameter of the
objective lens of the telescope to just resolve the objects will be,

1.7.32x10 cm
2.7.32x107% cm
3.7.32 cm
4.7.32x10" cm
Options :
85133015705. 1
85133015706. 2
85133015707. 3
85133015708. 4

Question Number : 27 Question Id : 8513303930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fah il CEIRBIY BT IWRT 15 km T @ &l G TUUS] T U0 B o oY b1 7141 2 | fe 3
&I fusi & & gU® 1.5 m & JUT 3% 600 nm TUIGH & UHIRI GRI VeI bl T 8, dl 3
st &1 3% - 3P fAUfed T & AP d & AT g BT 1™ 8Tl -

1. 7.32x103 cm
2.7.32x107% cm
3.7.32cm
4,7.32x10" cm
Options :
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85133015705. 1
85133015706. 2
85133015707. 3
85133015708. 4

Question Number : 28 Question Id : 8513303931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following statements is NOT true for Young's double slit experiment?

1. Fringe width is proportional to wavelength 2

2. Fringe width is proportional to slit width d

3. Fringe width is inversely proportional to screen distance D

4. Fringe width is proportional to the position of fringe from the central miximum
Options :

85133015709. 1

85133015710. 2

85133015711. 3

85133015712. 4

Question Number : 28 Question Id : 8513303931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

AT fg 3R vt & o il feu U ol 9 9 o W Wel el & 2

1. Tibsl J1STE a¥Tedd " 1 & AU il B

2. bt =T9TS Al D1 <ISTs ' o' & SFTPHTUIC! Bidl B

3. filbel dISTS Uc @1 gdl ‘D' & gehHuIdl Bidi B

4. Tihd 91STE U & g | fibal @ (YT & S IshHHUdl Bidl
Options :

85133015709. 1

85133015710. 2
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85133015711. 3
85133015712. 4

Question Number : 29 Question Id : 8513303932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A monochromatic unpolarized beam of light is incident on a transparent plate at a certain
angle. The reflected rays are found to be totally polarized. The angle between the reflected ray
and the refracted ray will be,

1. 90°

2. 60°

3. 45°

4. 307

Options :
85133015713. 1
85133015714. 2
85133015715.3
85133015716. 4

Question Number : 29 Question Id : 8513303932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

I3 Uhauil Hgffdd THI Yol U Hi%d DIv W fbdl URGRI Uit IR SHUd- &l 5 | Wiafid
w11 fehRul guia: Yfad urdl oIt 81 gRTafad AR Sfuafdd faon & did I gRT -

1. 90°
2. 60°
3. 45°
4, 30°
Options :
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85133015713. 1
85133015714. 2
85133015715. 3
85133015716. 4

Question Number : 30 Question Id : 8513303933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A proton enters a region of uniform electric field  of strength 10° N/C with velocity 10° m/s,
perpendicular to the electric field. The displacement of the proton when it covers a distance of
2.0 cm will be,

(mg = 1.67x10°%" kg, q,, = 1.6x1079 C)

1. 19.2 mm

2. 1.92 mm
3.0.192 mm
4, 0.0192 mm
Options :
85133015717. 1
85133015718. 2
85133015719. 3
85133015720. 4

Question Number : 30 Question Id : 8513303933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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I3 UIei 105 N/C diadl & fodl thaaH fdggd &5 e H a1 10° m/s Y fdgga aa &
o WA BT &1 2.0 cm Gl 79 B TR WIS T fa=ITu= 81T - (m,=1.67x10"27 kg,
qp=1.6x10"1° C)

1. 19.2 mm

2. 1.92 mm
3.0.192 mm
4, 0.0192 mm
Options :
85133015717. 1
85133015718. 2
85133015719. 3
85133015720. 4

Question Number : 31 Question Id : 8513303934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A 600 pF capacitor is charged by 10V battery. It is then disconnected from supply and
connected to another uncharged 600 pF capacitor. Energy lost in the process will be

1.3x107 )

2. 1.5x107%
3.3x10°% )
4.1.5x10%
Options :
85133015721. 1
85133015722. 2
85133015723. 3
85133015724. 4

Question Number : 31 Question Id : 8513303934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

4l 600pF & YT &1 10v &1 98 T HERG fosar a1 81 {6 34 319fd U 221 600pF &
Tl o=y YT T Sifora s T &1 33 Wishdl & g SHell gl -

1.3x107%)

2. 1.5x107
3.3x10% )

4, 1.5x108 )
Options :
85133015721. 1
85133015722. 2
85133015723. 3
85133015724. 4

Question Number : 32 Question Id : 8513303935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The current flowing through the resistance R, when Ry = Ry and Rz = Ry is

“: J_rj_/\Lfﬂl_ﬁ 1
)4
|

S
E—H‘\/ o

E 4(Ry+ R3)
2V

2. -

(Ry+ R3)
174

3. _—
(Ri+R3)
v

* 2(R,+ R3)

Options :

85133015725. 1
85133015726.2
85133015727.3
85133015728. 4

Question Number : 32 Question Id : 8513303935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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W& Ry=R, QYT Ry=Ry &, I UfRIE R, ¥ UAIfRd URT B -

1. _
4(R,+R3)
2V
2. —_—
(R +R;)
%4
3. _—
(R + R3)
vV
4. _
2(Ry+ R3)
Options :
85133015725. 1
85133015726.2
85133015727. 3
85133015728. 4

Question Number : 33 Question Id : 8513303936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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When the potential difference applied in a conductor is doubled and also length of the
conductor is halved, the drift speed of electrons in the conductor will

1. not change
2. be halved

3. be four times
4, be doubled
Options :
85133015729. 1
85133015730. 2
85133015731. 3
85133015732. 4

Question Number : 33 Question Id : 8513303936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Old U1 {gUged fayaraR &l &l TH1 aYl dleid Bl iy Bl 3Mel S 61 ol 8, d died o
SodeHl @I YIS 91 -

1. URafdd =8l gidi|
2. 3M1ef1 B Sl B

3. IR M Bl oIl B
ERARE IS IEIG ]
Options :
85133015729. 1
85133015730. 2
85133015731. 3
85133015732. 4

Question Number : 34 Question Id : 8513303937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A solenocid has an area 'A" and length ‘L', number of turns per unit length 'n". If B is the

magnetic field, then magnetic energy stored in the solencid is given by

Options :

85133015733. 1
85133015734.2
85133015735.3
85133015736. 4

Question Number : 34 Question Id : 8513303937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Tt uRTferat &1 aFwd A, TETS L 9Ul Uid Uhic avels adel &f &1 'n' g1 afc e
&7 B 8, 91 39 uRAIas | Yafd geag SHell & :

1 pgn
1. - L(—
2 ()
Holl
2. —L(—)?
2 (B)
1 B
3.5L(—)?
2 Hgn

Options :
85133015733. 1
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85133015734.2
85133015735.3
85133015736. 4

Question Number : 35 Question Id : 8513303938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Eddy current is gainfully employed in

1. Transformer

2. Electromagnet

3. Induction furnace
4, Electric motor
Options :
85133015737. 1
85133015738.2
85133015739.3
85133015740. 4

Question Number : 35 Question Id : 8513303938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
YaR YRT &I AHEID JUIRTBIT & -

1. SRR
2 faggd o
3. IR® Hgl |

4. fagga AR ¥
Options :
85133015737. 1
85133015738. 2
85133015739. 3
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85133015740. 4

Question Number : 36 Question Id : 8513303939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

An electric field of 10 N/C is applied across a wire of area of cross section 10®m?, through
which a current of 1A is flowing. The resistivity of the material of the wire is

1. 108 Om
2.107 Om
3.10°% Om
4.10" Om
Options :
85133015741. 1
85133015742. 2
85133015743. 3
85133015744 4

Question Number : 36 Question Id : 8513303939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

IR BT §AHT 108m?2 & B4l IR [ 1A YR Waled 81 @l 8, & Rl | 10 N/C BT Bl
fa6gd 4 S Ugad (a1 T g | 39 IR & i &1 Ufariuddl & -

1. 108 Om
2,107 Om
3.10° Om
4,10 Om
Options :
85133015741. 1
85133015742. 2

85133015743.3
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85133015744. 4

Question Number : 37 Question Id : 8513303940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The magnetic meridian at a place is

1. a point

2. the line joining magnetic north and south pole
3. a vertical plane

4. a horizontal plane

Options :

85133015745. 1

85133015746. 2

85133015747.3

85133015748. 4

Question Number : 37 Question Id : 8513303940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

foodl I R s IR Bld & :

1. D% g

2. JFEDIY IR Yd 3R TFD T Gl §d DI e arell @i
3. ®i5 SR ad

4. I3 &fas ad

Options :

85133015745 1

85133015746. 2

85133015747. 3

85133015748. 4
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Question Number : 38 Question Id : 8513303941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A small signal voltage V(t) = V, sin wt is applied across an ideal inductor. Which of the following
statements is correct

1. The phase of current I(t) is behind the phase of the voltage by 90°

2. There is no phase difference between current and voltage

3. Over a full cycle, the inductor does not consume any energy from the voltage source
4. The phase of the current leads the phase of the voltage by 180°

Options :

85133015749. 1

85133015750. 2

85133015751.3

85133015752. 4

Question Number : 38 Question Id : 8513303941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
foreit oy FaFHa dieedl V(t)=vg sin wt DI T dl 31GR IR® & RRI 1R sugad fear g1 =i
o T & 91 HY Ual & 2

1. YRT I(t) B! Bl diced] B HAT Y 90° UH 5

2. YR 3R dleedl & &d B ST ol o

3. U [ d% 4 RS dicedl 9id U Dlg Holl 39gdd ol &dl
4. YR 1(t) B! Bl diced] & AT Y 180° AU §|

Options :

85133015749. 1

85133015750. 2

85133015751. 3

85133015752. 4
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Question Number : 39 Question Id : 8513303942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In hydrogen atom, the kinetic energy, potential energy and the total energy of electron are
represented by symbols as K,U and E respectively. Which one of the following relations is
correct?

4 K=U=-E
Options :

85133015753. 1
85133015754.2
85133015755.3
85133015756. 4

Question Number : 39 Question Id : 8513303942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ul grESiaH WA H SaideH Bl i S, [RUfds Sl a4l $d Sl @l HH: Wdidl K, P
HR T gRT FR=TUa e a1 g1 d =i &g a1 & 91 96y 981 g ?

.K=U=2E
U

2 K=—=_F
UE

3K=—=—E

4 K=U=—-E

Options :
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85133015753. 1
85133015754. 2
85133015755.3
85133015756. 4

Question Number : 40 Question Id : 8513303943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A photosensitive plate has threshold frequency which is in the range of blue light. It can also
exhibit photoelectric effect, if illuminated by

1. Orange light
2. Yellow light
3. Green light
4. Violet light
Options :
85133015757. 1
85133015758. 2
85133015759. 3
85133015760. 4

Question Number : 40 Question Id : 8513303943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Tl U1l QUTE! Ul ] Bl cadll HIG e UhI & URER H g1 I8 Ule ! UHh™ faggd wHd
i <=1t Tl & Ifc 34 Uai fpar &

1. AT URTRT ERI
2. Ul UehT<l gRI
3. B¢ U gRI
4, §T BT R

Options :
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85133015757. 1
85133015758. 2
85133015759. 3
85133015760. 4

Question Number : 41 Question Id : 8513303944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

An alpha particle and an electron have the same linear momentum. The ratio of the
de Broglie waves associated with them is

1. 2:1

2. 1:1

3.4

4. 1:4

Options :
85133015761. 1
85133015762. 2
85133015763. 3
85133015764. 4

Question Number : 41 Question Id : 8513303944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T UehT HUT 3R fdl geae B Ra® Ud7 THH | 394 IS ¢ SFdl avlasl &f 34U §

1. 2:1
2. 1:1
3.4
4. 1:4
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Options :
85133015761. 1
85133015762. 2
85133015763. 3
85133015764. 4

Question Number : 42 Question Id : 8513303945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The mass number of two nuclei, A and B are 27 and 64 respectively. The ratio of their radii will
be,

1. 34

2.5:8

3.2:1

4. 1:2

Options :
85133015765. 1
85133015766. 2
85133015767. 3
85133015768. 4

Question Number : 42 Question Id : 8513303945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

&l AT A 3R B ®1 SoudH YA HUR: 27 3R 64 &1 TSB! FoUTa &1 SUrd 81 -

1. 3:4
2. 5:8
3. 2:1
4. 1:2
Options :
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85133015765. 1
85133015766. 2
85133015767. 3
85133015768. 4

Question Number : 43 Question Id : 8513303946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the given nuclear fission reaction
235U + gn — siBa + %JKr + 35n
the values of x and y are, respectively

1. 143, 36

2. 145, 37

3. 144, 36

4. 141, 37
Options :
85133015769. 1
85133015770. 2
85133015771. 3
85133015772. 4

Question Number : 43 Question Id : 8513303946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ol Tl T feaus UG a H 2350 + In > Ba + 82Ky + 3inTel x Ry FAME,

SHEL

1. 143, 36
2. 145, 37
3. 144 36
4141, 37
Options :

85133015769. 1
85133015770. 2
85133015771.3
85133015772. 4

Question Number : 44 Question Id : 8513303947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The truth of a logic gate is given below

Input Output
A B Y
0 T 0
1 0 0
1 T 0
0 0 1

The logic gate is

1. OR Gate

2. NOR Gate
3. AND Gate

4. NAND Gate
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Options :
85133015773. 1
85133015774.2
85133015775. 3
85133015776. 4

Question Number : 44 Question Id : 8513303947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ot Aifor e & I IRl i &1 T 8

4, NAND 7€
Options :
85133015773. 1
85133015774. 2
85133015775.3
85133015776. 4

Question Number : 45 Question Id : 8513303948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The collector of a transistor is

1. Lightly doped and larger in size as compared to emitter

2. Moderately doped and larger in size as compared to emitter
3. Heavily doped and larger in size as compared to emitter

4. Lightly doped and thin compared to emitter

Options :

85133015777. 1

85133015778. 2

85133015779. 3

85133015780. 4

Question Number : 45 Question Id : 8513303948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Tt Cifore &1 Hares gl & -

1. Seb] TI AIGd 94T Seid &1 Jo-1 § I5e § 93T
2. MR HIfed dY Scuid & ga-1 § 95 | 931

3. dgd D AIfed 7Y ITeid 1 qo | Trgel § g3l
4. goo] 1 HifGd 94T Iuid &I goHT § gadl

Options :

85133015777. 1

85133015778. 2

85133015779. 3

85133015780. 4

Question Number : 46 Question Id : 8513303949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the following is an example of point to point communication mode?

1. AM broadcast
2. FM broadcast
3. television

4. Telephone
Options :
85133015781. 1
85133015782. 2
85133015783. 3
85133015784. 4

Question Number : 46 Question Id : 8513303949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Fgfafad o O &1 91 fdg 9 fdg ao YR 31 fGur 3 g 2

1. HTGTH HIG eI TR
2. AT ATgferd THR
3. Zefifaed

4. B

Options :

85133015781. 1
85133015782. 2
85133015783. 3
85133015784. 4

Question Number : 47 Question Id : 8513303950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the following statements is NOT true for sky wave?

1. Sky wave has frequency range from few MHz upto 40 MHz
2. Sky waves are reflected by ionosphere

3. Sky waves are used for satellite communication

4. Sky waves are used by short wave broadcast services
Options :

85133015785. 1

85133015786. 2

85133015787. 3

85133015788. 4

Question Number : 47 Question Id : 8513303950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A T (Sky Waves) & [a9d H FHRfeiad ¥ 4 oi- 91 U Sy Wel 98l & 7

1. 09 G BT AR TRE $S MHz T 40 MHz 9 Bidl 8|
2. o1 ¥l 3f1gd Husd Y WIafdd 8l oidi 8|

3. o1 U1 &1 UGN 399E 9o fdar Sdr 8|

4. SO T &1 IUART @Y a7 TR0 Aarsil R a1 S g1
Options :

85133015785. 1

85133015786. 2

85133015787. 3

85133015788. 4

Question Number : 48 Question Id : 8513303951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A p-n photo diode is fabricated from a semiconductor with band gap of 2.4 eV. It will be able
to detect electromagnetic wave of wave-length

1. 450 nm

2. 600 nm

3. 700 nm

4. 800 nm
Options :
85133015789. 1
85133015790. 2
85133015791.3
85133015792. 4

Question Number : 48 Question Id : 8513303951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ul Bl SIS @1 TidtaH 2.4 eV dUS - RId dla SHedes 4 a1 711 81 98 34 fdegd
TP G T BT TG PR G o] qITeH & -

1. 450 nm

2. 600 nm

3. 700 nm

4, 800 nm

Options :

85133015789. 1

85133015790. 2

85133015791. 3
85133015792. 4

Question Number : 49 Question Id : 8513303952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Light with an energy flux of 10 W/m? falls on a non reflecting surface of area 0.5 m? at normal
incidence. The average force exerted on the surface during 100s time interval is

1. 1.66x102 N
2.1.66x1073 N
3. 1.66x10° N
4.1.66x107 N
Options :

85133015793. 1
85133015794 2
85133015795. 3
85133015796. 4

Question Number : 49 Question Id : 8513303952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

&FABT 0.5 m? & fodl U J§ U UHBIR B 10 w/m? DI Bls Holl Feiad Araad ATYd
®dl &1 100s B 3afy H 39 Y8 G &7 aell Ngd ddl & -

1. 1.66x102 N
2. 1.66x1073 N
3. 1.66x10° N
4, 1.66x107 N
Options :

85133015793. 1
85133015794. 2
85133015795. 3
85133015796. 4

Question Number : 50 Question Id : 8513303953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

Which one of the following is NOT an optoelectronic diode?

1. Photodiode

2. Zener diode

3. Light emitting diode
4, Solar cell

Options :

85133015797. 1
85133015798. 2
85133015799. 3
85133015800. 4

Question Number : 50 Question Id : 8513303953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fofafaa o @ o= Qﬁ[ =il Eéﬂtiﬁﬁﬂ (optoelectronic) EIPICE

1. BleSAIS

2. SR 318

3. Ul Sooi® Sdis
4. TR Id

Options :
85133015797. 1
85133015798. 2
85133015799. 3
85133015800. 4

Part II Chemistry 6

Section Id : 85133052
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Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 85133056
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8513303954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Select the correct option for the increasing order of ease of SNy reaction by the following
compounds, on treatment with ag.KOH

El-r
H
_CH3Br
i&]
Br
c-

Br
|
D | g"

Choose the correct answer from the options given below

CH-CH=CHa

1.C«<D<A<B
2B<C<A=<D
33C<B=<=D=<A
4 D=C=<B<A
Options :
85133015801. 1
85133015802. 2
85133015803. 3
85133015804. 4

Question Number : 51 Question Id : 8513303954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

S KOH @ T1Y IUId &3 U1 (9 Tl gR1 SN SATHiHT & THl & 96d HH & g

el fddey gAU:
CH,Br

{e}
c.

&)

1.C«D<A<B
2B=<C<A=<D
3 C<B=D=<A
4D«C=B<A
Options :
85133015801. 1
85133015802. 2
85133015803. 3
85133015804. 4

Br
Br
|

CH-CH=CH;

Question Number : 52 Question Id : 8513303955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The reaction which gives correct products, as per the given condition is

EH3 fHH

|
1. CHi—C — ocHs — M3 o ey — ¢ __ OCHs + CHal

CHa CHs
CH20H
CHs CHa
2. . I
CHy — CH — O —CH; Hifad) . cHoT s
HI{a
3. CHa CHy =—0Q — CHz— CH_CH,_—[ LCH}CH}_UH"‘CH! CH —CH:

|

= HIfag)
CH: — CH — CH;— D _Hioal . cH — cH; —oH s
| |

CH: CHy
Options :

85133015805. 1

85133015806. 2

85133015807. 3

85133015808. 4

Question Number : 52 Question Id : 8513303955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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&1 72 T & SR g8 ifhar off et Sae ot 8, B -

C|H3 CHs
1. CH3—C — OCH: HIaA) ) i, —C — OCHs + CHal
| |
CHg l:Hg
CH20H
':iH.i (:|H3
2.
CH3—CH—U—CH2©ﬂ}__'CH3—CH—I +
HI(aq)
3. CH; — CH;—0 — (CH;— CH =— CH; ———— CH3CH;0H + CH;=——CH —CH;
I
4. HI(aq)
CHsy — ?H — CHy;— O ——— CH;—ClH —— CH; —OH +
CHjs CHs
Options :

85133015805. 1
85133015806. 2
85133015807. 3
85133015808. 4

Question Number : 53 Question Id : 8513303956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Select the correct option for the increasing order of acidic strength following compounds

OH

"©
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w
@O
I

O CHs

0
W
I

cl

=
O
T

MOz

M
_ g
%@ =

Choose the correct answer from the options given below

T.C<«B<A<D-=E
2Ah<C<B=<E=<D
33 C<A<B=<D=E
AB<A<C<E=<D
Options :
85133015809. 1
85133015810. 2
85133015811. 3
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85133015812. 4

Question Number : 53 Question Id : 8513303956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

18 Aiff1®T Bt ewlig Uddd & ded o4 & (L el fddbed gHT:

OH
A,
OH
BI @
0 CHs
OH
I
0
Cl
OH
|
DI @
NO,
OH
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CN

T.C«B=<A<D=E
2A=C<B=<E=<D
3C<A<B=D=E
4 B«A«<C=<E=D
Options :
85133015809. 1
85133015810. 2
85133015811. 3
85133015812. 4

Question Number : 54 Question Id : 8513303957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following types of detergents is non-bicdegradable?

1. Anionic and linear

2. Cationic and linear

3. Non-ionic and linear

4, Non-ionic and branched
Options :

85133015813. 1
85133015814.2
85133015815. 3
85133015816. 4

Question Number : 54 Question Id : 8513303957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

AHUHSIE ([Sesie) B 9 H T oH O forw o Ffiewia g e 2

1. RS a4 3@

2. BaEH® aul @

3. H-AAHS TUTI@g
4. H-HGHS TUT LA
Options :

85133015813.1
85133015814. 2
85133015815. 3
85133015816. 4

Question Number : 55 Question Id : 8513303958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following structures does NOT represent 2-methyl pentane?

Options :

85133015817. 1
85133015818.2
85133015819. 3
85133015820. 4

68/199



9/18/2020

Question Number : 55 Question Id : 8513303958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g IREsiE g o O 2 - 2fig U &f sifiegad e @l ?

LN\

A
A
4 |/@

Options :

85133015817. 1
85133015818. 2
85133015819. 3
85133015820. 4

Question Number : 56 Question Id : 8513303959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the following structures is aromatic?

CH

O

L

AOE

4

Options :

85133015821. 1
85133015822.2
85133015823.3
85133015824. 4

Question Number : 56 Question Id : 8513303959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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5 Geare J 9 ol 9 Eke § 2

36@

Options :

85133015821. 1
85133015822.2
85133015823.3
85133015824. 4

Question Number : 57 Question Id : 8513303960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

71/199



9/18/2020

The monomer unit(s) of polymer Dacron is

1. Caprolactam

2. Ethylene glycol and terephthalic acid

3. Hexamethylenediamine and adipic acid
4.1, 3 - Butadiene and styrene

Options :

85133015825. 1

85133015826. 2

85133015827.3

85133015828. 4

Question Number : 57 Question Id : 8513303960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

SH SEAP B AR 3P PRI/ §

1. UGy

2. TR s dia aul Safie Uis

3. BRI AT SR UHH 94 UrElU® s
4.1, 3 - SLISI3 dYl €I

Options :

85133015825. 1

85133015826. 2

85133015827.3

85133015828. 4

Question Number : 58 Question Id : 8513303961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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. : . . 2 .
In solid XY, "Y" forms hcp lattice and "X’ particles are present in Erd of octahedral voids. The

formula for XY solid will be

1. X3Y>

2. X4¥3

3. X3Y3

4. X3¥4
Options :
85133015829. 1
85133015830. 2
85133015831. 3
85133015832. 4

Question Number : 58 Question Id : 8513303961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
XY B H, "Y', hep Al (QTeidh) &1 & TUT X' BT Adlesd (HPhas™) Ridadl & 2/3 B
T JufUd &1 Xy 319 &1 93 8-

1. X3Y2

2. XaY3

3. Xa¥Y3

4. X3Y¥a
Options :
85133015829. 1
85133015830. 2
85133015831. 3
85133015832. 4

Question Number : 59 Question Id : 8513303962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

An element 'X' having density of 9.0 gcm™ has a face-centred cubic structure with a cell edge
of 300 pm. What will be the number of unit cells present in 270 g of the element?

1. 444x10%
2. 1.11x10%
3.2.22x10%¢
4. 27x10%
Options :
85133015833.
85133015834.
85133015835.
85133015836.

AW N =

Question Number : 59 Question Id : 8513303962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
9.0 gcm™ U dTdl U ded "X’ Bl i dbi-ad 9+ UgH & R Ud BR 300 pm g1 T & 370g
H SulRyd gf-e 9ol &I Tem & gl

1. 444x10%4
2. 1.11x10%
3. 2.22x10%
4. 2.7x10%3
Options :
85133015833.
85133015834.
85133015835.
85133015836.

AW N =

Question Number : 60 Question Id : 8513303963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

The osmotic pressure of solution formed by mixing 25 ml of 0.1 M MgCl; and 25 ml of 0.1 M
Urea at 300 K will be:

(R=0.0821 lit atm K 'mol™")

1. 2463 atm
2. 1.237 atm
3. 4926 atm
4. 3.69 atm
Options :
85133015837.
85133015838.
85133015839.
85133015840.

AW N~

Question Number : 60 Question Id : 8513303963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
300 K @R 0.1 M MgCl, @l 25ml @Y7 0.1 M A1 & 25 ml - U s-HaTe fdeaH &l TR
HENUI]

(R=0.0821 lit atm K 'mol™)

1. 2.463 atm
2. 1.231 atm
3.4.926 atm
4, 3.69 atm
Options :
85133015837. 1
85133015838.2
85133015839.3
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85133015840. 4

Question Number : 61 Question Id : 8513303964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

0.01 Molal agueous solution of a non-volatile solute boils at 100.78°C. Its freezing point will
be:

(Ky, for water = 0.52 K kg mol'; K, for water = 1.86 K kg mol ™

1. 269.72 K
2.270.21K
3.27272K

4. 271.22K
Options :
85133015841. 1
85133015842. 2
85133015843.3
85133015844. 4

Question Number : 61 Question Id : 8513303964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TS AL G0 P71 0.01 i Said [Gaa 100.78°C IR J9adl & | SH®HT (Said [aaaH)
fenids g1 (O & [o1U Ky, = 0.52 K kg mol™; oI & fU K = 1.86 K kg mol™)

1. 269.72 K

2. 270.21 K
3.272.72K

4. 271.22K
Options :
85133015841. 1
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85133015842.2
85133015843.3
85133015844. 4

Question Number : 62 Question Id : 8513303965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

M*7 > M2 ——————— M
. E) =+133V ES = —0.74V ‘T

SE—

E? =2
For metal ‘', E¢ for ™"/, will be

1.0.59V
2207V
3.044V
4.-059V
Options :
85133015845. 1
85133015846. 2
85133015847. 3
85133015848. 4

Question Number : 62 Question Id : 8513303965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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+7 > | +3 > )
M E) = +1.33V M EY = —0.74v ‘f

. —
EJ =7
g =2

uig M F MY/, &R EQ STHA R

1.0.59V
2207V
3.044V
4.-059V
Options :
85133015845. 1
85133015846. 2
85133015847. 3
85133015848. 4

Question Number : 63 Question Id : 8513303966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 11

List |

List 1l

Salt

Molecular formula

A, Glauber Salt

. MgS0..7H-0

B. Epson Salt Il. KCIMgClz.6H;0
C. Borax l1l. Na>COs5

D. Carnalite V. Naz5S04.10H;0
E. Soda Ash V. NazB407.10H,0

Choose the correct answer from the options given below:

1LA-ILB-IV,C-V,D-LLE-Il
2A-V,B-ILC-IV,D-1IlLE-I
SA-ILB-IV,C-V,D-1LE-I
4A-IVB-ILLC-V,D-ILE-

Options :

85133015849. 1
85133015850. 2
85133015851. 3
85133015852. 4

Question Number : 63 Question Id : 8513303966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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BICTH-1 B BIGH-11 & T1Y FHITT B -

HICH-| HICH -1

REk SHUEA

A. TAIER Glee (Fool) . MgSO4.7H50
B0 e Il. KCIMgCl5.6H,0
CaNT III. Na>CO3

D. ®HIRE V. Na3S04.10H0
E. TIST O (T1S] &R) V. Na>B407.10H,0

T.A-ILB-IV,C-V,D-LE-I
2ZA-V,B-ILC-IV,D-1ILE-I
3A-ILB-IV,C-V,D-1LE-I
4A-IVB-ILLC-V,D-ILE-
Options :
85133015849. 1
85133015850. 2
85133015851. 3
85133015852. 4

Question Number : 64 Question Id : 8513303967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following salts will NOT give N>(g) on heating?

1. I:NH4:|2CF2DI.—-
2. Ba(Ns);z

3. NH4NO;

4. NH4NO;
Options :
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85133015853. 1
85133015854. 2
85133015855. 3
85133015856. 4

Question Number : 64 Question Id : 8513303967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

% TIquit & T B T TRA B W Na(g) el &2

1. (NH4)2Cr207
2. Ba(N3);

3. NH4NO3

4. NH4NO;
Options :
85133015853. 1
85133015854.2
85133015855. 3
85133015856. 4

Question Number : 65 Question Id : 8513303968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The total number of lone pair of electrons in one molecule of XeFgs will be

1.1
2. 18
3.19
4.17
Options :
85133015857. 1
85133015858. 2
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85133015859. 3
85133015860. 4

Question Number : 65 Question Id : 8513303968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
XeFg o Ul U H Udldh! Foidel T &1 ool ST il :

1.1

2. 18

3.19

4.17

Options :
85133015857. 1
85133015858. 2
85133015859. 3
85133015860. 4

Question Number : 66 Question Id : 8513303969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct trend of boiling points of hydrides of Group 15 elements is

1. NH3 < PH3 < AsH3 < SbH3 < BiH;
2. PH3; < AsH3 < NH3 < SbH3 < BiH3
3. PH3 < AsH3 < SbH3 < BiH3 <= NH;
4. PH3 < AsH3 < SbH3 < NH3 < BiH;
Options :

85133015861. 1

85133015862. 2

85133015863. 3

85133015864. 4
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Question Number : 66 Question Id : 8513303969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

qY 15 dcdl & elgalg el b HYHId ®I Ughd gl :

1. NH3 < PH3 < AsH3 < SbH3 < BiH;
2. PH3z < AsH3y < NH3z < SbH3 < BiH3
3. PH3 < AsHy < SbH3 < BiH3 < NH3
4, PH3 < AsH3y < SbH3 < NH; < BiH3
Options :

85133015861. 1

85133015862. 2

85133015863. 3

85133015864. 4

Question Number : 67 Question Id : 8513303970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What will be the magnetic moment for a divalent ion in aqueous solution having atomic
number 257

1. 4.89 BM
2.5.92 BM
3.3.87 BM

4. 2.84 BM
Options :
85133015865. 1
85133015866. 2
85133015867. 3
85133015868. 4
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Question Number : 67 Question Id : 8513303970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
STaity faeaH | U] 921 25 9l Ueb fudield 3194 & R grad ™ iUl & 511 &1 81T 2

1. 4.89 BM
2.5.92 BM
3.3.87 BM

4, 2.84 BM
Options :
85133015865. 1
85133015866. 2
85133015867. 3
85133015868. 4

Question Number : 68 Question Id : 8513303971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify the transition metal ions from the given list that exhibit no colour in their aqueous
solution.

Sc3*: Tid*: Ti**: Ni2*; Zn?*; Mn?*
Choose the correct answer from the options given below

1. Sc3*: Ti**: Zn<*
2. Sc3*: Tit™: Zne™
3. Ni2*: Zn2*: Mn=~*
4. Ti**; Nie*; Zn2*
Options :
85133015869. 1
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85133015870. 2
85133015871. 3
85133015872. 4

Question Number : 68 Question Id : 8513303971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

&1 71 fore U 3 TiforH Hed -l &1 Ugani=g il 3(U- Sy faerd= § 31 781 &d
Sc3*: T Ti%*: Ni2™: Zn2™: Mn2™
el IR gHU:

1. S Tit*: Zn2t
2. Sc3*: Tid+: Zn2*
3. Ni%*; Zn®*; Mn®*
4, Ti**; Nie*; Zn?*
Options :
85133015869. 1
85133015870. 2
85133015871.3
85133015872. 4

Question Number : 69 Question Id : 8513303972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Choose the correct option for the following free radicals in order of decreasing stability
A. (CeHs)3C
B. (CH;),CH
C. (C4H;),C CH;
D. CgH5C(CHs),
Choose the correct answer from the options given below

1.A>C>D=>=B
2A==B=C=D
3B=A=>C=D
4 B>D>A>C
Options :
85133015873. 1
85133015874. 2
85133015875. 3
85133015876. 4

Question Number : 69 Question Id : 8513303972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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9 o ga®| & [T 31 ged RITRd & HH & Yol [dded g :
A. (CgH;)4C

B. (CH,),CH

C.(C¢H:),C CH,

D. C4HsC(CH,),

1.A>C>D=>B
2A=B>C=>D
3B>A>C=>D
4B>D>A>C
Options :
85133015873. 1
85133015874.2
85133015875.3
85133015876. 4

Question Number : 70 Question Id : 8513303973 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following is a disaccaharide?

1. Fructose

2. Maltose

3. Cellulose

4. Amylopectin
Options :
85133015877. 1
85133015878. 2
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85133015879. 3
85133015880. 4

Question Number : 70 Question Id : 8513303973 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
AT SIS SRIES § ?

1. pacig

2. HIee g

3. Tt

4, UfFrefTUfde
Options :
85133015877. 1
85133015878. 2
85133015879. 3
85133015880. 4

Question Number : 71 Question Id : 8513303974 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following disease is caused by the deficiency of Vitamin B;?

1. Beri-Beri

2. Cheilosis

3. Pernicious anaemia
4, Convulsions
Options :
85133015881. 1
85133015882.2
85133015883. 3
85133015884. 4
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Question Number : 71 Question Id : 8513303974 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e e, P oM AR AT FI IR S 2

1.0 - a8

2. fraifag (aiig fagem)
3. Tl Yadreddr

4, HIdcEY (GIT&H)
Options :

85133015881. 1
85133015882.2
85133015883. 3
85133015884 4

Question Number : 72 Question Id : 8513303975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Tollen's o

In the following reaction z » R CH; CHa cOO ™, Identify 'Z'
Reagent

1. R CH; CH; CHO

0
2.

R t:H;-—é—n:H;
R —CH;— € — CHzOH
0

R —CH—CHzCHCOOH
OH

Options :

85133015885. 1

85133015886. 2

4,
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85133015887. 3
85133015888. 4

Question Number : 72 Question Id : 8513303975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

’ G:] -
g af¥feear o 7 Tollen’s » R CH; CH, COO 'Z'ﬁQBﬂli?—la

Reagent

1. R CHz CHz CHO

O

2. I
R CH;—C—CHs

, R—CHy— € — CH;0H
' 0

4 R —(|:H —CH2CH2COOH

OH
Options :
85133015885. 1
85133015886. 2
85133015887. 3
85133015888. 4

Question Number : 73 Question Id : 8513303976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the following carboxylic acids is most acidic in nature?

1. Butanoic acid

2. 2-Chlorobutanoic acid
3. 3-Chlorobutanoic acid
4, 4-Chlorobutanocic acid
Options :

85133015889. 1
85133015890. 2
85133015891. 3
85133015892. 4

Question Number : 73 Question Id : 8513303976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

9 FEaa® U ¥ fhus! Ueia gaid® g & 2

1. eAigd Uas

2.2 - FARSICIE® TS
3.3 - TRISICE® TS
4 4 - GORSCHAR® TS
Options :

85133015889. 1
85133015890. 2
85133015891. 3

85133015892. 4

1A

Question Number : 74 Question Id : 8513303977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following amine is most basic?

1 i)
* CgHii NH3
[i1]
2. CgHs NH3

3. CHs CH;NH;

O

Options :

85133015893. 1
85133015894. 2
85133015895. 3
85133015896. 4

Question Number : 74 Question Id : 8513303977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g v & @ &9 91 gaifds adfig & 2

1 &
© CsHi1 NHs

@
2. CgHs NH3

3. CHs CH3;NH;

4, NH,

Options :

85133015893. 1
85133015894.2
85133015895. 3
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85133015896. 4

Question Number : 75 Question Id : 8513303978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Choose the correct option for the ratio Ly, + ty = L3/ of a first order reaction

1.1:2.1:3.2
2.1:247:4.817
3. 1:42: 104
41:3:9
Options :
85133015897. 1
85133015898. 2
85133015899. 3
85133015900. 4

Question Number : 75 Question Id : 8513303978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

quHGIE fHfhar  tay, = tay : t3; Ul & o Tl fdwed giHu:

1.1:2.1:3.2
2.1:241:4.81
3.1:42:164
41:3:9
Options :
85133015897. 1
85133015898. 2
85133015899. 3
85133015900. 4
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Question Number : 76 Question Id : 8513303979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Shape selective catalysis depends upon the

1. Pore structure of the catalyst only

2. Size of the reactant only

3. Size of the product only

4. Size of both reactant and product and pore structure of the catalyst
Options :

85133015901. 1

85133015902. 2

85133015903. 3

85133015904. 4

Question Number : 76 Question Id : 8513303979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

0 Goldey (HIHR RUTHD) JARSdl 8 H § frg W AR i § 2

1. IGRE B T AT HE |

2. HPRD & PR 73 T

3. 3dG & PR A5 R

4, AUPRS JUT IAG GH & PR aY ISRD f TH U= T
Options :

85133015901. 1

85133015902, 2

85133015903. 3

85133015904. 4
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Question Number : 77 Question Id : 8513303980 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which statement is true for lithium?

1. It forms LiO when burnt in O3

2. It has lower melting and boiling point than other alkali metals
3. Its compound shows ionic character

4. Lithium is much softer than other alkali metals

Options :

85133015905. 1

85133015906. 2

85133015907. 3

85133015908. 4

Question Number : 77 Question Id : 8513303980 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

INPpECANE IR R

1. 0, # 9@H W T8 Li,0 §91d1 &

2. H &R UIHT BT g1 H 3UD1 THid 99 HYHiD [ §
3. 3% dIfiT® A 701 &21d &

4, SG&IR gl &1 go- H fefdgs warer gagH g
Options :

85133015905. 1

85133015906. 2

85133015907. 3

85133015908 4

Question Number : 78 Question Id : 8513303981 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In the Castner-Kellner process, solution of 'A’ is electrolysed using a cathode of metal ‘B’ and
ancde of element X'. Identify ‘A’ 'B" and "X’ respectively

1. NaCl, Mercury, Carbon
2. NaOH, Zinc, Carbon

3. NaCl, Zinc, Carbon

4. NaOH, Mercury, Zinc
Options :

85133015909. 1
85133015910. 2
85133015911. 3
85133015912. 4

Question Number : 78 Question Id : 8513303981 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
BN - HA-R WHA H, A’ & [dad B, Ul B & HYlS TUT dd ‘X' & THIS &1 W4 &b [dggd
Hugfed [T AT g1 A, ‘B YT X HHR: © ;

1. Nacl, HPl, dle-
2. NaOH, Toi®, ®reH
3. NaC, foid, Bre
4. NaOH, A5, [Sid
Options :
85133015909. 1
85133015910. 2
85133015911. 3
85133015912. 4

Question Number : 79 Question Id : 8513303982 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

At 300K, ArG and ArG*® are -12.8 KJ mol™! and -11.5 KJ mol™! respectively for the following
reaction:

Alg) + B(g) — C(l) + D(aq)
If the reaction is at equilibrium, then what will be the equilibrium constant K?

1. -2.0x10°

2. 1.0x10°

3. 1.0x10™2

4. 1.69x10°
Options :
85133015913. 1
85133015914. 2
85133015915. 3
85133015916. 4

Question Number : 79 Question Id : 8513303982 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
300K, W 9 JfHfeHar & o ArG 9UT ArGe HHEE: -12.8 KJ mol™! 9T -11.5 KJ mol ' & :

A(g) + B(g) — C(l) + D(aq)
e 3ififerar 9 W 1 o O RIS K FTBRT ? (R = 8.314 J/mol K)

1. -2.0x10°
2. 1.0x102

3. 1.0x1072
4.1.69x10°
Options :
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85133015913. 1
85133015914. 2
85133015915. 3
85133015916. 4

Question Number : 80 Question Id : 8513303983 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The enthalpy of combustion of four allotropic forms of element "X’ are given as

Allotropic forms DcompH(K)/mal)
A -270.3
B -189.1
C -390.5
D -465.0

The most stable allotropic form of element "X is

1. A

2. B

3.C

4.D

Options :
85133015917. 1
85133015918. 2
85133015919. 3
85133015920. 4

Question Number : 80 Question Id : 8513303983 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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TG X & IR REU DI ee I WA Ad e B g -

HULEU A ompH(KJ/mol)
A -270.3
B -189.1
C -390.5
D -465.0
1. A
2.B
3.C
4.D
Options :

85133015917. 1
85133015918. 2
85133015919. 3
85133015920. 4

Question Number : 81 Question Id : 8513303984 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The pH of 10°° M H250,4 will be

1. 5.68

2. 5.60

3. 6.0

4.6.32
Options :
85133015921. 1
85133015922.2
85133015923. 3
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85133015924. 4

Question Number : 81 Question Id : 8513303984 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
106 M H,S04 @1 pH Bt :

1. 5.68

2. 5.60

3.6.0

4.6.32
Options :
85133015921. 1
85133015922. 2
85133015923.3
85133015924. 4

Question Number : 82 Question Id : 8513303985 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The solubility of BaSOg4 in 107> M H350, solution will be
(Ksp for BaSO4 = 1.1 x 10719

1. 1.1x1013 M
2.11x 107 M
3.55x 108 M
4,55x107 M
Options :

85133015925. 1
85133015926. 2
85133015927. 3
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85133015928. 4

Question Number : 82 Question Id : 8513303985 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1072 M H,S0, f[daa H Baso, @1 facaar ghft :
(BaSO, @ [T Ksp = 1.1x 10°19)

1. 1.1x 1013 M

2. 1.1x107 M
3.55x 108 M
4.55x107 M

Options :

85133015925. 1
85133015926. 2
85133015927. 3
85133015928. 4

Question Number : 83 Question Id : 8513303986 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Arrange the following molecules in the correct decreasing order of boiling points
H> ;D3 ; HO ; H:0z; D0
Choose the correct answer from the options given below

1. Hz07 = D20 = H;0 = D3 = Hj
2. D20 > H;Q7 > H0 > D2 = H»
3. H:07 = H,O > D20 > H; = D>
= HgD = H;D; = Dg'(:l = Hg = D;
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Options :
85133015929. 1
85133015930. 2
85133015931. 3
85133015932. 4

Question Number : 83 Question Id : 8513303986 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

= fau 1Y erupsit & HuHie o1 el UedI BH 6 -
Hz ; D2 ; HaO ; H20; ; DO

1. H>O37 = D30 > H30 = Dy > Hp
2. 050 > HaOz > HyO > D2 > Ha
3. H>O3 = H30 > D20 > Hy > D>
4. H>O > HyO3 > D30 > Hy > D3
Options :

85133015929. 1

85133015930. 2

85133015931. 3

85133015932. 4

Question Number : 84 Question Id : 8513303987 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following molecules does NOT have a coordinate bond in it?

1. N,O
2. KNC
3.CO

4, HNO;
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Options :
85133015933. 1
85133015934.2
85133015935. 3
85133015936. 4

Question Number : 84 Question Id : 8513303987 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

% el § ¥ foogd go-adl §4 -8l 57

1. N2O

2. KNC

3.CO

4. HNO3
Options :
85133015933. 1
85133015934. 2
85133015935. 3
85133015936. 4

Question Number : 85 Question Id : 8513303988 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ICl; dimerizes in order to

1. Reduce number of lone pair of electrons
2. Increase number of bonds

3. Form coordinate bonds

4. Reduce lone pair-lone pair repulsion
Options :

85133015937. 1
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85133015938. 2
85133015939. 3
85133015940. 4

Question Number : 85 Question Id : 8513303988 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ICl; @1 Tgdad gidl & forad & .

1. Uhld] Scidel- g &1 T& 9

2. 3a| B T 9g 91

3. a4l 9y &

4. UhT®] g - UhId! T Ufdsyo g
Options :

85133015937. 1

85133015938. 2

85133015939. 3

85133015940. 4

Question Number : 86 Question Id : 8513303989 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The molecule having pA-d= bond is

1. H2C O

2. HNO3

3. HaPOy

4, HOC|
Options :
85133015941. 1
85133015942. 2
85133015943. 3
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85133015944. 4

Question Number : 86 Question Id : 8513303989 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

dg U foH pr-d= HEH S, T 6

1. H2C O

2. HNO3

3. HaPOy

4, HOC|
Options :
85133015941. 1
85133015942. 2
85133015943. 3
85133015944. 4

Question Number : 87 Question Id : 8513303990 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following statements about ozone is FALSE?

1. Pure ozone is a pale blue gas, dark blue liquid and violet black solid

2. Ozone acts as a powerful oxidising agent

3. The two oxygen-oxygen bond lengths in the ozone molecule are identical
4. Ozone is not an allotropic form of oxygen

Options :

85133015945. 1

85133015946. 2

85133015947. 3

85133015948. 4
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Question Number : 87 Question Id : 8513303990 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HH & gras o - G 70 Syl § 9 &H 7ad 82

1. G 3IS1H Teb Widh] =Tl 719, TER1 el 5d a1 s srel 319 Bl
2. 39T U Uaa HTRPRS & 4§ HIdl &

3. IS U] 1 &1 AR - ERTeH HEY eyl U6 wdl 6 |

4, AHSF AT BT AILEY 761 6|

Options :

85133015945, 1

85133015946, 2

85133015947. 3

85133015948. 4

Question Number : 88 Question Id : 8513303991 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The IUPAC nomenclature of coordination compound having formula [Cr{NHz)3(H20)3] Clz is

1. Triamminetriaquachromium (Il1) chloride

1) chloride
4. Triamminetriaquachromium (Il) chloride

(

2. Triamminetriaquachromium (lll) trichloride
3. Triaguatriamminechromium (
(

Options :

85133015949. 1
85133015950. 2
85133015951. 3
85133015952. 4

Question Number : 88 Question Id : 8513303991 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

G-t T, f T G [Cr(NH3)3(H20)3] Cls 8, &1 HTSGUTTHT /4 g1 :
1. CIRUHFCR USTEITERH (1) FIR1SS

Options :

85133015949. 1
85133015950. 2
85133015951. 3
85133015952. 4

Question Number : 89 Question Id : 8513303992 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 11

List | List 11

Coordinate compound/Magnetic moment

A. [NiClg® .0 BM

B. [CO(NH3)g]** II. 3.87 BM
C. [Fe(CN)gl* IIl. 2.82 BM
D. [Cr(NH3)s)** IV. 1.732 BM

(Atomic Number of Cr = 24; Fe = 26; Co = 27; Ni = 28)
Choose the correct answer from the options given below:

TA-ILB-1,C-1,D-1V
2ZA-LB-1,C-N,D-1V
SA-ILB-1L,C-IV,D-1
4AA-LB-IILC-IV,D-1I
Options :

85133015953. 1
85133015954. 2
85133015955.3
85133015956. 4

Question Number : 89 Question Id : 8513303992 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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DIH-1 ® IUGGISD FIid! BT DIaH-11 H 163 T ToIg S0 & 1Y GHA DI :

(WTE[],?F@T . Cr=24; Fe = 26; Co = 27; Ni = 28)

HIcH-| HIaH-II

A. [NiCly® .0 BM

B. [CO(NH3)g)*~[Il. 3.87 BM
C. [Fe(CN)gl** |lIl. 2.82 BM
D. [Cr(NH3)g)** [IV. 1.732 BM

BICTH-1 BT BIH-11 H Te! GHd B -

TA-NLB-1LC-I,D-IV
ZA-1L,B-1L,C-11,D-1IV
3A-IILB-1,C-IV,D-1I
4 A-1L,B-IILC-IV,D-1
Options :

85133015953. 1
85133015954. 2
85133015955.3
85133015956. 4

Question Number : 90 Question Id : 8513303993 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Choose the correct order of increasing ionic radii for the following isoelectronic species?

1.Na* <Mg®* < 0% < F
2.Mg®* < Na® < F < 0%
3. Mg <Na® < 0% < F
4.0% <F <Na® < Mg**
Options :
85133015957. 1
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85133015958. 2
85133015959. 3
85133015960. 4

Question Number : 90 Question Id : 8513303993 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T Soigel WiEE & R0 agdl g e Bearsi & Ul 1 $1 9 ;

1.Na* <Mg®* < 0% < F
2.Mg®* < Na® < F < 0%
3. Mg <Na® < 0% < F
4.0% <F <Na® < Mg**
Options :

85133015957. 1
85133015958. 2
85133015959. 3
85133015960. 4

Question Number : 91 Question Id : 8513303994 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Out of CCly, SiCls, SnCly and PbCly, which will NOT be easily hydrolyzed by water?

1. CCly

2. SiCly

3. 5nCly

4. PbCly

Options :

85133015961. 1
85133015962. 2
85133015963. 3
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85133015964. 4

Question Number : 91 Question Id : 8513303994 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

CCly, SiCly, SNCly TYT PbCl, & T B I STEHT 9 9 Sudied "l gl ?

1. CCly

2. SiCly

3. 5nCly

4. PbCly
Options :
85133015961. 1
85133015962. 2
85133015963. 3
85133015964. 4

Question Number : 92 Question Id : 8513303995 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What is the shape of BCl3.NH3?

1. Planar only

2. Square planer only

3. Tetrahedral only

4. Both planar and tetrahedral
Options :

85133015965. 1

85133015966. 2

85133015967. 3

85133015968. 4
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Question Number : 92 Question Id : 8513303995 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
BCl3.NH3 @1 HIHR 3 ?

1. GOdcll 9=

2. TG A
3. IR ad®Id A

4. T 9YT IqYhAdd Gl
Options :

85133015965. 1

85133015966. 2

85133015967. 3

85133015968. 4

Question Number : 93 Question Id : 8513303996 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is the formula of bleaching powder?

1. CaOCl;

2. Ca(0Cl);

3. CaCly+Ca(0dly);
4. Ca(HCO3);
Options :
85133015969. 1
85133015970. 2
85133015971. 3
85133015972. 4

Question Number : 93 Question Id : 8513303996 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ATl UT3E &1 g3 Al & ?

1. CaOCl;

2. Ca(0Cl);

3. CaCly+Ca(0dly);
4. Ca(HCO3);
Options :
85133015969. 1
85133015970. 2
85133015971. 3
85133015972. 4

Question Number : 94 Question Id : 8513303997 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What are the oxidation number of three carbons in ¢;0,7?
[Given: Structure of c,0, is D=‘E=g=g=ﬂ]

4 4 4

'3'3°3
2.o+2:0; +2
3. +2: +2:0
4.0, +2: +2
Options :
85133015973. 1
85133015974. 2
85133015975.3
85133015976. 4

Question Number : 94 Question Id : 8513303997 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

C,0, H I el & g afieo g2 i < 75 $Hifed ST & YR TR HH: 81 -

C,0, PIEWTAE 0=C, =C, =C; =0

: 4 . 4 . 4
'3'3'3
2 4+2:0; +2
342 +2:0
4.0; +2; +2

Options :
85133015973. 1
85133015974. 2

85133015975. 3
85133015976. 4

Question Number : 95 Question Id : 8513303998 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Select the correct option for the relationship between root mean square speed (U¢), average
speed (U;,) and the most probable speed (Up,p)

1. Urmns > Ump > Uay
2 Uppns = Ugy = Upyp
3. Uy > Uﬂp > Urms
4. Ump = Ups = Ugy
Options :
85133015977. 1
85133015978. 2
85133015979. 3
85133015980. 4
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Question Number : 95 Question Id : 8513303998 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
a1 AT JA T (U, png), 3 T (U,,,) T TIRISTH QT (U) P T T & o ER1 fabed
EGLE

1. Umns = Upp = Ugy
2 Upps = Ugy = Ump
3. Us, > Uﬂp = Urms
4. Ump = Upme = Usy
Options :
85133015977. 1
85133015978. 2
85133015979. 3
85133015980. 4

Question Number : 96 Question Id : 8513303999 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Out of 3s, 3p, 3d and 4s orbitals, which has maximum energy?

1. 3s

2 3p

3. 3d

4 4s

Options :
85133015981. 1
85133015982. 2
85133015983. 3
85133015984. 4

Question Number : 96 Question Id : 8513303999 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

115/199



9/18/2020

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

3s, 3p, 3d TYT 4s ¥ [ O] Frell Galad &7

1. 3s

2. 3p

3. 3d

4. 4s

Options :
85133015981. 1
85133015982.2
85133015983.3
85133015984. 4

Question Number : 97 Question Id : 8513304000 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A golf ball has a mass of 46g and a speed of 45 m/s. If the speed can be measured within
accuracy of 3%, what will be the uncertainty in the position?

1. 8.4x1034
2. 6.4x1073
3. 6.6x1073°
4. 2.1x103
Options :

85133015985. 1
85133015986. 2
85133015987. 3
85133015988. 4

m
m
m
m

Question Number : 97 Question Id : 8513304000 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

U TMieh §1d B So0HMH 46g TUT SHDT 97 45m/s ©1 TG 37 DI 3% &I FUTedl § J1971 &1 e
ol f&ufa o fea-t SHfEaar siett 2

1. 8.4x10734
2. 6410733
3. 6.6x1073°
4, 2.1x10734
Options :

85133015985. 1
85133015986. 2
85133015987. 3
85133015988. 4

m
m
m
m

Question Number : 98 Question Id : 8513304001 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If the density of 3M solution of NaCl is 1.25 gmL™, then what is its molality?

1.2.79m
2.350m
3.41m

4.0.2 m
Options :
85133015989. 1
85133015990. 2
85133015991. 3
85133015992. 4

Question Number : 98 Question Id : 8513304001 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

g Nacl @ 3M TaeigH &1 99 1.25 gmL" 81 dl THS! Hlcieiel &1 g1 2

1.2.79m
2.350m
341 m
4.0.2m
Options :
85133015989. 1
85133015990. 2
85133015991. 3
85133015992. 4

Question Number : 99 Question Id : 8513304002 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Classical smog is a mixture of

1. Fog and SO3

2. Fog and S50;

3. Fog, smoke and SO;
4. Fog, smoke and SO;
Options :

85133015993. 1
85133015994. 2
85133015995. 3
85133015996. 4

Question Number : 99 Question Id : 8513304002 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Fdhd W (G YHEHe) & ol Jal fddbed giHu .

1. DX aUl SO; & Bl

2. Pe Yl SO, BT A

3. Pel, Yaii aYl SO, @I gy
4. D, Y3 aU1 S0, oI g
Options :

85133015993. 1

85133015994, 2

85133015995. 3

85133015996. 4

Question Number : 100 Question Id : 8513304003 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a green house gas?

1. CO;

2. CHy

3. 03

4. CO

Options :
85133015997. 1
85133015998. 2
85133015999. 3
85133016000. 4

Question Number : 100 Question Id : 8513304003 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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COy, CHy, O3 GUT CO H T &H i UiH 8139 19 81 87

Fi"
O;

2. CHy

3. 03

4. CO

Options :
85133015997. 1
85133015998. 2
85133015999. 3
85133016000. 4

Part I1I Biology 6
Section Id : 85133053
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 85133057
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 8513304004 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following are all dioecious animals?

1. Pheretima, Taenia and Ascaris
2. Hirudinaria, Ascaris and Neries
3. Taenia, Neries and Aurelia

4, Nereis, Aurelia and Ascaris
Options :

85133016001. 1

85133016002. 2

85133016003. 3

85133016004. 4

Question Number : 101 Question Id : 8513304004 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

9 & O ®F vaifeme ofig 87

1. BRICH] Zi397 TY1 Tepig
2. [EegGARY] TwpIy Ul A%
3. 12139 ARG a1 3orcrar

4. [RE SRIGET a4 TRhRE
Options :

85133016001. 1

85133016002. 2

85133016003. 3

85133016004. 4

Question Number : 102 Question Id : 8513304005 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 11

List | List Il
A, Skull .. 30

B. Vertebral column 1. 24
C. Ribs 1. 22
D. Fore limbs V. 26

Choose the correct answer from the options given below:

TA-ILB-IV,C-Il,D-1I
ZA-ILB-IV,C-1,D-1I
SA-ILB-1L,C-IL,D-1IV
4 A-1LB-IV,C-1I,D -1

Options :

85133016005. 1
85133016006. 2
85133016007. 3
85133016008. 4

Question Number : 102 Question Id : 8513304005 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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gt -1 B Gl -1l & 1y e &

gl -| -l
3. @Jal . 30
CAGEETA| 11, 24
. Ol . 22

. 3G V. 26
<4 fGu T faedl H 9§ 98l SR 9T ;

1T.oH-,g-1V, H-1, G-I
29 -1, d-1v,H-1, -1l
3.9-1L,d-1L,89-1, -1V
4. -1, d-IvV, -1, q-1
Options :

85133016005. 1
85133016006. 2
85133016007. 3
85133016008. 4

Question Number : 103 Question Id : 8513304006 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The Bacteria and Eurakya domains are distinguished by

1. All members of Bacteria are single-celled and all members of Eukarya are multicellular
2. Only Eukarya have DNA

3. Only Eukarya have the ability to grow and reproduce

4. In Bacteria, there is an absence of membranous organelles, such as a nucleus

Options :

85133016009. 1
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85133016010. 2
85133016011. 3
85133016012. 4

Question Number : 103 Question Id : 8513304006 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ja 1 YT RIGRAT SIHH YR R AFEd Bl 8 :

1. 9ol iRl U SRS 1Y qU gHRY S & 94l oild Sga e e
2. Had gHRA1 ¥ UL Bl Bl

3. Had JHRA ¥ gfa a9yl el &1 &5dl sidl 8

4, 9N H AT 3Tl &1 3HTE Bl & o i dsm

Options :

85133016009. 1

85133016010. 2

85133016011. 3

85133016012. 4

Question Number : 104 Question Id : 8513304007 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following are correct with respect to the effect of change in substrate
concentration on enzyme activity?

A. At V.., reaction velocity is limited mainly by the number of substrate molecules present

B. At substrate concentration much below K, the active site of an enzyme molecule is free
most of the time

C. An enzyme with a high K, has a low affinity for its substrate

D. At very high substrate concentrations, the active site of an enzyme molecule is free most of
the time

E. At very low substrate concentrations, reaction velocity is limited mainly by the number of
enzyme molecules present

Choose the correct answer from the options given below:

1. A, B and D only
2. B and C only

3. A and C only

4. B, D and E only
Options :
85133016013. 1
85133016014. 2
85133016015. 3
85133016016. 4

Question Number : 104 Question Id : 8513304007 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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GaRe e Higdl &I Tl (ol UR US- dTell UHTd -
H. Vynay UR Te20T1 7110 0 FaRe e 0] b I W) R il B

4. K, U ©H Jaicc Uigdl 1R TS5 H &1 919 Jdg dbdr GHd @ieil Xedl o

4. 3 K,,, alcl TSTgH & Jawec o Uid g TFd sl g

&, IS 3o Yatce Tigdl TollgH ®I Yhid Ude HAfUdar TG @il 8l 6|
7. 1 gEvce aiudT W i i e Teed gt @1 T )R R & Bl
&y e fadedl # 4 Wl Iw I -

1. 5aq 3, 9JUT G
2 paagaur g

3. Haa A aul g
4, Haq 9, G AUl g
Options :
85133016013. 1
85133016014. 2
85133016015. 3
85133016016. 4

Question Number : 105 Question Id : 8513304008 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 11

List |

List 1l

A. Propionibacterium sharmanii

. Cyclosporin A

B. Aspergillus niger

. Citric Acid

C. Monascus purpureus

ll. Swiss Cheese

D. Trichoderma polysporum

I\/. Statins

Choose the correct answer from the options given below:

TA-NLB-IV,C-1I,D-1
2ZA-IV,B-1,C-1I,D-1I
3A-ILB-ILC-1V,D-I
4 A-IV,B-1II,C-1,D-1I
Options :

85133016017. 1
85133016018. 2
85133016019. 3
85133016020. 4

Question Number : 105 Question Id : 8513304008 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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it -1 B Gl -1 & Fry FAeH &

i -| -1l

3. FIGgHaaIRaH S . ISRIGIRA - A
d. TEgRIcry 15N 1. e e

O, THREY Ty kSR EIE

. e @ISHl Giciegiy V. w1y

feu T fameal H ¥ get SR T :

1T.oH-,g-1V, H-1, G-I
29 -1V, d-1, -1, -1l
3.9-1L,d-1,9-1V, G-
4.3 -V, d-1L,"-1, -1
Options :

85133016017. 1
85133016018. 2
85133016019. 3
85133016020. 4

Question Number : 106 Question Id : 8513304009 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 11

List | List 11

A, Yeast |. Zoospores

B. Paramecium Il. Conidia

C. Fungi 1. Budding

D. Penicillium IVV. Binary fission

Choose the correct answer from the options given below:

T.A-LB-IV,C-1,D-1
2ZA-1LB-IV,C-1,D-1I
3A-1LB-IV,C-1I,D-1
4 A-ILB-IV,C-1I,D-1
Options :

85133016021. 1
85133016022. 2
85133016023. 3
85133016024. 4

Question Number : 106 Question Id : 8513304009 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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gt -1 B Gl -1l & 1y e &

N -l

3. O . S[ERY
g, iy I, BIFET
9. Bhal . gH -
. Uiy v. fg. fageq
feu T fameal H ¥ get SR T :

1.H-1, G-IV, -1, G-I
29 -1, d-1vV, " -1, -l
3.H-L -1V, -1, -l
4. -1, d-IvV, -1, q-1
Options :

85133016021. 1
85133016022. 2
85133016023. 3
85133016024. 4

Question Number : 107 Question Id : 8513304010 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: Muscular dystrophy is an auto immune disorder affecting neuro muscular
junctions leading to fatigue, weakening and paralysis of skeletal muscle

Statement lI: Rapid spasms (wild contractions) in muscle due to low Ca™~ in body fluid are
called Gout disease

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

85133016025. 1

85133016026. 2

85133016027. 3

85133016028. 4

Question Number : 107 Question Id : 8513304010 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A C AT LS

BY - | : IR AP U WHIaRE GAd N ¢ off a1 URITg ol @I UHTdd @l &,
oY YD, HHGR] qUT heIcig UfRT &7 YamdTd dd gHd 2|

DY - 11 : did TpoH (dl5es YddH) off UM H ca*~d (Y WR & SR BIdl & aul a1 I
Hedid ol

Sudad HYHl B H1ciie H FafiRad fadedl # 4 el IR 4 -

1. T HYA-| TUT HYH-Il T 5 |

2. GHFI BYF-1 JUT BYF-11 3TH B

3. BYF-1 g § Tfted duH-11 A ©
4, TYF-1 3Td ¢ i HYF-1l T B
Options :

85133016025. 1

85133016026. 2

85133016027. 3

85133016028. 4

Question Number : 108 Question Id : 8513304011 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 11

List |

List 1l

A. Scar of ovule

. Stalk of seed

B. Outer integument Il. Tegmen
C. Funiculus I, Hilum
D. Inner integument V. Testa

Choose the correct answer from the options given below:

T.A-LB-1,C-1V,D-1
ZA-1,B-N,C-1,D-1IV
3A-ILB-IV,C-1,D-1I
4 A-IV,B-LC-lI,D-1
Options :

85133016029. 1
85133016030. 2
85133016031. 3
85133016032. 4

Question Number : 108 Question Id : 8513304011 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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it -1 BT Gl -1l & I1Y e &

H\_t’ﬁ'l -1l

3. ST &1 = . diivl Sed
EACIEEE RN 1. ST
9. 3 11, TGt
&. AP fRresil V. SiaTaRo
feu T fameal H ¥ get SR T :

1.H-1,d-1L,"H-1IV,q-1lI
29 -1, d-1N,9-1, G-IV
3.9-1,d-1v, 8 -1, -1l
4. -V, d-1, 8-, g-1
Options :

85133016029. 1
85133016030. 2
85133016031. 3
85133016032. 4

Question Number : 109 Question Id : 8513304012 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 11

List | List 1l

A, Wuchereria bancrofti l. Pneumonia
B. Trichophyton rubrum 1. Malaria

C. Plasmodium vivax 1. Filariasis

D. Haemophilus influenzae

V. Ringworm

Choose the correct answer from the options given below:

TA-IV,B-1,C-1I,D-1
ZA-ILB-IV,C-1,D-1I
3A-ILB-ILC-1V,D-I
4 A-IV,B-NIL,C-1,D-1
Options :

85133016033. 1
85133016034. 2
85133016035. 3
85133016036. 4

Question Number : 109 Question Id : 8513304012 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Gt -1 BT Gl -1l & H1Y Fore= &

gl -| -l

3. DA S DIl RECIEE

4. CTa®IBlge SaH |1, FafE

. WA S0 argdad 1. BRI RO
. femifth iy U=rquel V. GG

d fgu e fadbedl & W Ogl SR A

1.H-IV, d-1LH-1, G-I
29 -1, d-1v,H-1l, G-I
3.9-1L,d-1,9-1V, G-
4. -V, d-1lL"-1, -1
Options :

85133016033. 1
85133016034. 2
85133016035. 3
85133016036. 4

Question Number : 110 Question Id : 8513304013 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If two plants having heterozygous genotype for a trait are crossed, what percentage of the
progeny will have heterozygous genotype?

1. 25 %

2. 50 %
3.75%
4,100 %
Options :
85133016037. 1
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85133016038. 2
85133016039. 3
85133016040. 4

Question Number : 110 Question Id : 8513304013 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

S 2 U fodt 707 B fausgns SfiF Uy ¥ € o1 39! did fbd- uiaerd faeage gH
® GG £

1. 25%

2. 50%

3. 75%

4. 100%
Options :
85133016037. 1
85133016038. 2
85133016039. 3
85133016040. 4

Question Number : 111 Question Id : 8513304014 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: An enzyme that can be allosterically activated is most likely to catalyze the final
reaction in a bio-synthetic pathway

Statement II: An enzyme can be allosterically activated by compound X and allosterically
inhibited by compound ¥

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

85133016041. 1

85133016042. 2

85133016043. 3

85133016044. 4

Question Number : 111 Question Id : 8513304014 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A C AT LS

BYT - | : TP ToileH ! SUTTg Iid fvar ot g &; fovdll S g=emor Al & g
forar o1 3SIRd TR THaT B

DY - 11 : T TollgH ®l HUTRTY U H HHNS X gR1 ISRG TUl SHIES ¥ gRI by faar
o IHT &

Sudad HYHl B H1ciie H FafiRad fadedl # 4 el IR 4 -

1. GFIl BYF-1 TYT HYH-1l T & |

2. GH TYH-1 TYT BYH-1 SET & |

3. ®YH-1 A § dlth HYA-1l 3T g
4. TYF-| AGT & i HYF-11 T 8
Options :

85133016041 1

85133016042. 2

85133016043. 3

85133016044 4

Question Number : 112 Question Id : 8513304015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

"The pyramid of energy is always upright” states that

1. The energy conversion efficiency of carnivores is better than herbivores
2. The energy conversion efficiency is same in all trophic levels

3. The energy conversion efficiency of herbivores is better than carnivores
4. Producers have the lowest energy conversion efficiency

Options :

85133016045. 1

85133016046. 2
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85133016047. 3
85133016048. 4

Question Number : 112 Question Id : 8513304015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Sl &l fURIES ga=n SiuT @318 ol

1. JIOTER] oiidl &1 Sl IR0 G&idl AMBIeRI widl U dedl aldl ol
2. el SUTaRYl G&l Guff GifPd TR W 99 8l 8l

3. AMBRRT al &1 el $UTdRYl a&dl HiGRRI wial ¥ #f&® gl ol
4. JACH! DI Fell B g&dl (g9 8l o

Options :

85133016045. 1

85133016046. 2

85133016047. 3

85133016048 4

Question Number : 113 Question Id : 8513304016 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Mangifera indica belongs to

1. Class- Monocotyledonae; Order- Zingiberales ; Family- Anacardiaceae
2. Class- Dicotyledonae; Order- Sapindales; Family- Anacardiaceae
3. Class- Monocotyledonae; Order- Myrtales; Family- Cucurbitaceae
4. Class- Dicotyledonae ; Order- Violales; Family- Cucurbitaceae
Options :
85133016049. 1
85133016050. 2
85133016051. 3
85133016052. 4
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Question Number : 113 Question Id : 8513304016 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
FefitT 3iewT @ SEfia &

1. @ - AHIDIENSH: TU-[HEaey: $d - HIdRs ]
2. 9 - SDIEITSH: 7107 - YT : Fd - THPRaID|
3. 91 - AHIBIETSHT: 707 - FRE; $dl - ppiscdl

4. @ - SABICHATSHT: 70 - IEAY: Bl - DUl
Options :

85133016049. 1

85133016050. 2

85133016051. 3

85133016052. 4

Question Number : 114 Question Id : 8513304017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Reverse transcriptase is an enzyme encoded in the genetic material of retroviruses that

catalyzes the transcription of retroviral genetic material. The enzymatic activity of reverse
transcriptase is

1. DNA-dependent RNA polymerase
2. DNA-dependent DNA polymerase
3. RNA-dependent DNA polymerase
4. RNA-dependent RNA polymerase
Options :

85133016053. 1
85133016054. 2
85133016055. 3
85133016056. 4
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Question Number : 114 Question Id : 8513304017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ad Tihues AMH® Ted Reagid & 9--aa § T oidl & a4l Reday & H-diie
gl & Uidcud § 9@ §| Rad Ciufhucs @i Targaicd aiaiy FE deR &

1. SLUAL. YT RTAT Ui
2. BT yiiid 2 uA.u i

3. AR AT, AHYRT SIU.E Ui
4, AR TAY. AU RUAT Ulcies
Options :

85133016053. 1

85133016054. 2

85133016055. 3

85133016056. 4

Question Number : 115 Question Id : 8513304018 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following are correct with respect to the mechanism of breathing?
A. Tidal volume + inspiratory reserve volume is called vital capacity
B. Inspiration occurs when the intra-pulmonary pressure is less than atmospheric pressure

C. Relaxation of the diaphragm and the intercostal muscles results in reducing the pulmonary
volume

D. An increase in pulmonary volume decreases the intra-pulmonary pressure to less than the
atmospheric pressure

E. Volume of air that will remain in the lungs even after a forcible expiration is called expiatory
reserve volume

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, B and E only
Options :
85133016057. 1
85133016058. 2
85133016059. 3
85133016060. 4

Question Number : 115 Question Id : 8513304018 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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3, SARIT HGA +30: Y=g Hd Bl SquTRdl dgl Aidl g |

§. 34 E & HY 3d: PUDHIY Gald digHSd & qald 4 ®H Bidl o

. S aYT Scxaed UMl & Rids- & hawaed PrpUd Gad H o
& DU 3 H gl 7Y 3i<0: PUrpUY Gald digHS I GaTd & GIUal dHi
T, §Yd® aig B & g off @Ry 9y & Fya fAfE smadd @ed B
few Ty famedl # ¥ 9 SR A

1. $aq 3, 9a4d g
2. HadE gaul g
3. Haq 9, qaad g
G T A )
Options :
85133016057. 1
85133016058. 2
85133016059. 3
85133016060. 4

Question Number : 116 Question Id : 8513304019 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Complete the following table

Blood Group Antigens on RBCs Antibodies in Plasma Donor’s Group
A A anti-B I ()]

B B anti-4 B, O

AB A B () AB, A B O

O nil (1) O

Choose the most appropriate answer from the following options

1. 1-8,0: 1I- anti-A: 1ll- anti- 4B
2. 1-4; 11- Nil; I1I- anti- A,B

3. I-0; lI- anti-B; lll- anti- A,O
4 1-4,0: 11- Nil: lll- anti- 4B
Options :

85133016061. 1

85133016062. 2

85133016063. 3

85133016064. 4

Question Number : 116 Question Id : 8513304019 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Y& HYE (AT Yo Dot W ufder wired J ufaridt [grar Yad |99E
A A T<1-B . m

B B Tli-A B, O

AB A, B m AB, A, B, O

0 TS Tol oy 0

1. 1-A,0; II- TCI-A; 11I- T<1- A,B
2. 1-A; II- @S gl: - T<I- AB
3. 1-0; II- T=CT -B; 11I- T<I- A0
4.1-A,0; II- PS el I- T<I- AB
Options :

85133016061. 1

85133016062. 2

85133016063. 3

85133016064. 4

Question Number : 117 Question Id : 8513304020 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify the enzyme of TCA cycle located in the inner mitochondrial membranes, and its
function.

1. Lactate dehydrogenase and it converts NAD™ to NADH

2. Succinate dehydrogenase and it reduces ubiquinone to ubiquinol

3. Succinate dehydrogenase and it converts NAD™ to NADH

4. Lactate dehydrogenase and it catalyzes the conversion of isocitrate into alpha-
ketoglutarate

Options :

85133016065. 1

85133016066. 2
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85133016067. 3
85133016068. 4

Question Number : 117 Question Id : 8513304020 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ST 99 & TsH | AEcidiiadl & HdR® R R T eld § -

1. daee Slelagiai- a4l 8 NAD*®I NADH H ggadl o

2. UiHE Slergalei-el a4l 98 Jais HIH @i gdidiHid § H9g9- Sl &l

3. UiHe Siesgleli-al dUl 98 NAD @] NADH H & adl |

4, AGSC SIgIZa Il qUT HZHHEICH 2 BT el - [hehgere # URdd IaRd #dr 3|
Options :

85133016065. 1

85133016066. 2

85133016067. 3

85133016068. 4

Question Number : 118 Question Id : 8513304021 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Phenylketonuria is a

1. Sex-linked dominant disease
2. Autosomal dominant disease
3. Sex-linked recessive disease
4, Autosomal recessive disease
Options :
85133016069. 1
85133016070. 2
85133016071. 3
85133016072. 4
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Question Number : 118 Question Id : 8513304021 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fthrga fepe-gfar uHifad oufed o U TiigA Sl 3l 3 fhIgaei=- &l TrRife |
Uaad ®3dl &, Tel gidl| (hASd Ta—- UHd gid (g d Uhe dd® 35 a4 30 3G 5
dad Sdl & | AfETss ¥ 24d Udhed U AR e sidl 8| fhasdide =g/ U -

1, Rt e A 2

2. ST WuTdl AT §
3. TATREAT SwTdl AT ©
4. ST SUHIET AT §
Options :

85133016069. 1
85133016070. 2
85133016071. 3
85133016072. 4

Question Number : 119 Question Id : 8513304022 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

148/199



9/18/2020

Arrange the following stages of chromosomal behavior during Prophase-| of Meiosis in the
correct sequence

A. Appearance of recombination nodules

B. Formation of synaptonemal complex

C. Appearance of chiasmata

D. Terminalisation of chiasmata

E. Beginning of chromosome compaction

Choose the correct answer from the options given below

1.E B, D A C
2CDAEB
3EBACD
4.D,B, E A C
Options :

85133016073. 1
85133016074. 2
85133016075. 3
85133016076. 4

Question Number : 119 Question Id : 8513304022 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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R fqHToH DI UIthd - | S/aey1 H UREAT &1 HdeR :
31, GT: I M6 I &1

9. Gig-uei-Hd g &I &40

Y. FAET B HRFH

. SO B GHIUA

T UG &1 AT
feu 7 fgmedl & 4 9l 1 &1 fadbed g :

1.9, ¢ 3 4
24 ¢34 4d
3.4 4 4 ¢
4649 4 3 H
Options :

85133016073. 1
85133016074. 2
85133016075. 3
85133016076. 4

Question Number : 120 Question Id : 8513304023 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Arrange the following zones as seen in the root in vertical section in the correct sequence
A. Root hair zone

B. Zone of meristems

C. Root cap zone

D. Zone of maturation

E. Zone of elongation

Choose the correct answer from the options given below

1.C,B,ELA D
2 A B CDE
3D,EACEB
4. ED,CB A
Options :

85133016077. 1
85133016078. 2
85133016079. 3
85133016080. 4

Question Number : 120 Question Id : 8513304023 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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TSl & Y YT &I JeidaE © 4 5 dayd &1

3. e &4
9. forsaias &=

9. oY &

Q. URusdT &

4. e &7

feu U fadeu! & U Wel % &1 fddbed 9 :

1.49,9 49 3,
249,49 4 Y
3.¢,9 49,4849
49 ¢ 94 d 3
Options :

85133016077. 1
85133016078. 2
85133016079. 3
85133016080. 4

Question Number : 121 Question Id : 8513304024 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Arrange the following parts of a sponge in the correct sequence for water to flow through
A. Apopyle

B. Incurrent canal

C. Prosopyle

D. Radial canal

E. Spongocoel

Choose the correct answer from the options given below

1.D,EA CB
2 A EDBC
3.CB ADE
4.B,C,D A E
Options :

85133016081. 1
85133016082. 2
85133016083. 3
85133016084. 4

Question Number : 121 Question Id : 8513304024 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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3. HUGdY

ERCGCIHEIINGD

H. S HER

<. 3ilcig HAfeip1

. Wi

feu U fadeu! & U Wel % &1 fddbed 9 :

1.6 49 4 49
24949, ¢,d 4°
3.8d 4,9
49 4 ¢ 4T
Options :

85133016081. 1
85133016082. 2
85133016083. 3
85133016084. 4

Question Number : 122 Question Id : 8513304025 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A test-cross was carried out for a pea plant having genotype RR and phenotype as round
seeds. What would be the ratio of phenotype (plants with round seeds: plants with wrinkled
seeds) in the resulting progeny?

1. All wrinkled

2. Round: wrinkled = 1:1
3. Round: wrinkled : 3:1
4, All round

Options :

85133016085. 1
85133016086. 2
85133016087. 3
85133016088. 4

Question Number : 122 Question Id : 8513304025 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Us Giamd Webe H Hex o RR Wi Uy o Ulel ForeidhT GHaavl 7l sl ol 3 arell Hdfd 7 e
auT iR Sl &1 AfHST / 3T 1 81T 2

1. @t gifeR
2.7 ER ;1

3.7 FliER -0 3
4. i T
Options :
85133016085. 1
85133016086. 2
85133016087. 3
85133016088. 4

Question Number : 123 Question Id : 8513304026 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
The process in which different species evolve in a geographical area, starting from a point and
rapidly diversifying into lineages that occupy new niches is called

1. Allopatric speciation
2. Adaptive radiation

3. Divergent evolution
4. Sympatric evolution
Options :

85133016089. 1
85133016090. 2
85133016091. 3
85133016092. 4

Question Number : 123 Question Id : 8513304026 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fareit HRTIfcie & H wifcgaad &1 Ufshan fored diadl ¥ 958 ual ¥ UR™ BidR s dHdd H
ST Bl 8| 3 A0 8

1. faruriAe wfagagad
2. Pl [d&R

3. AU Sid fad™

4. HfaR® 9id fasrg
Options :

85133016089. 1
85133016090. 2
85133016091. 3
85133016092. 4

Question Number : 124 Question Id : 8513304027 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

156/199



9/18/2020

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The occurence of which of the following events lead to the opening of stomata?
A. Lowering of osmotic potential of guard cells

B. Guard cells becoming flaccid

C. Decline in guard cell solutes

D. Rise in potassium levels in guard cells

E. Movement of water from neighboring cells into guard cells

Choose the correct answer from the options given below:

1. A, B and D only
2.B, Cand D only
3. B, Cand E only
4. A DandE only
Options :
85133016093. 1
85133016094. 2
85133016095. 3
85133016096. 4

Question Number : 124 Question Id : 8513304027 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. 5aq 3, 9JUT G
2. Hadq gaul g
3. @ad e gaulyg
4, %ad 3, gaury
Options :
85133016093. 1
85133016094. 2
85133016095. 3
85133016096. 4

Question Number : 125 Question Id : 8513304028 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Cancer that starts in the skin or in the tissues which line other organs is termed as

1. Sarcoma
2. Leukemia
3. Myeloma
4. Carcinoma
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Options :
85133016097. 1
85133016098. 2
85133016099. 3
85133016100. 4

Question Number : 125 Question Id : 8513304028 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HER P UDHR wil @l F1 [l 37 DI Udg D Sadl H Bl 6 :

1. GRD A

2. gfeh T

3. HIGCH

4. DREEME]
Options :
85133016097. 1
85133016098. 2
85133016099. 3
85133016100. 4

Question Number : 126 Question Id : 8513304029 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If you go to the countryside, you often see the 'cattle egret’ forage close to where the cattle
are grazing. The egret catches insects that flush out from the vegetation due to the moving
cattle. The interaction between the egret and cattle is considered as

1. Mutualism
2. Amensalism
3. Competition

4, Commensalism
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Options :
85133016101. 1
85133016102. 2
85133016103. 3
85133016104. 4

Question Number : 126 Question Id : 8513304029 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HEFR AT &7 F “dhed e 9 H 9¥d gU el & MUY wRATE J 8id1 8| & [e Ui &
Ia- U 919 9 e a1 @il &1 @rdl 81 §7c a1 U3 &1 Tiew Gy yeR &1 8 2

1. ggiltadl

2. ey
ERIREEG|

4, geYifial
Options :
85133016101. 1
85133016102. 2
85133016103.3
85133016104. 4

Question Number : 127 Question Id : 8513304030 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Selection of recombinants based on their inability to produce color in the presence of a
chromogenic substrate is

1. Insertional inactivation

2. Insertional mutagenesis

3. Insertional selection

4. Insertional chromogenesis
Options :

85133016105. 1

85133016106. 2

85133016107. 3

85133016108. 4

Question Number : 127 Question Id : 8513304030 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

THgiford =94 © 39 vard @1 Iufyd o 31 309 &1 o &l del Jdl 6 ;

1. Jday FspH
2. JdaY IART
3. Jaxg 9T

4, ARG FUIGHI
Options :
85133016105. 1
85133016106. 2
85133016107. 3
85133016108. 4

Question Number : 128 Question Id : 8513304031 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

161/199



9/18/2020

Arrange the steps of Natural selection in the correct sequence

A. Individuals reproduce and thereby pass on the beneficial genes to offspring

B. Fittest individuals survive in the population

C. Within the population, individuals compete and struggle to survive

D. Organisms overproduce off springs but not all survive

E. Individuals acquire new traits due to mutations thereby creating genetic variation
Choose the correct answer from the options given below

1. A EBCD
2D, ECEBA
3AACEDB
4.D,B A EC
Options :

85133016109. 1
85133016110. 2
85133016111. 3
85133016112. 4

Question Number : 128 Question Id : 8513304031 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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4. G&H Sid §9d &

. 3faret # i s ufdggar qur 99y &d § Sliad 8q,
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feu 7 fawedl # 9 wel fadey 94 -

1.9, 99 4, ¢
2.6 94949 3
3.9, 40 q.d
46,49 3494
Options :

85133016109. 1
85133016110. 2
85133016111. 3
85133016112. 4

Question Number : 129 Question Id : 8513304032 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In PCR reactions, temperature at which denaturation step and extension step take place, are
constant. However, temperature for the annealing step varies between different reactions.
Temperature for annealing is based on

A. Length of the primers

B. GC content of the primers

C. Length of the template DNA

D. GC content of the template DNA

E. Potential dimerization between the primer pair

Choose the correct answer from the options given below:

1.Aand C only
2. A, B and D only
3. A and B only

4. A, Cand E only
Options :
85133016113. 1
85133016114. 2
85133016115.3
85133016116. 4

Question Number : 129 Question Id : 8513304032 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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. ST 9id @1 GC AE
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&y e fadedl # 4 Wl Iw I -

1. Had A qUT g
2. ®ad A, gaU T
3. ®ad A U g
4. Had 3, gadrg
Options :
85133016113. 1
85133016114. 2
85133016115. 3
85133016116 4

Question Number : 130 Question Id : 8513304033 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In the Lac operon

A. i gene codes for the repressor

B. y gene codes for transacetylase

C. z gene codes for beta-galactosidase

D. Allolactose activates repressor

E. Repressor protein prevents RNA polymerase action by binding to promoter
Choose the correct answer from the options given below:

1. B and C only

2. A and C only

3. B, Cand E only
4. A, Cand E only
Options :
85133016117. 1
85133016118. 2
85133016119. 3
85133016120. 4

Question Number : 130 Question Id : 8513304033 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. Paa g adr g

2. haq A aUT g

3. Phaq e aul g
4 &g A, GadT g
Options :
85133016117. 1
85133016118. 2
85133016119. 3
85133016120 4

Question Number : 131 Question Id : 8513304034 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A bacterium is capable of withstanding extreme heat, dryness and toxic chemicals. This
indicates that it is probably going to form

1. Endotoxins

2. Endospores

3. A thick peptidoglycan wall
4. Endogenous buds
Options :

85133016121. 1

85133016122. 2
85133016123.3

85133016124. 4

Question Number : 131 Question Id : 8513304034 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ua SfiaI] 3=d a9, Y1 9T STe<icl J9EE I WHIEl el eldl 594 oiTdl & 9ad ge (Y fear g
TR ®:

1. 30 fay

2. 3d: |l

3. s A1 UPTsa™® fih
4, 3{doid PicEl

Options :

85133016121. 1

85133016122. 2
85133016123.3

85133016124. 4

Question Number : 132 Question Id : 8513304035 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 1l

List |

List 1

A. Ribosomal-RNA synthesis

l. Mitochondrial matrix

B. Protein synthesis Il. Nucleclus
C. Transfer-RNA synthesis lll. Ribosomes
D. mtDNA IV. Nucleus

Choose the correct answer from the options given below:

TA-LE-I,C-1,D-1V
ZA-ILBE-U,C-IV,D-1
SA-ILB-IV,C-II,D-1
4 A-ILE-N,C-1,D-1IV
Options :

85133016125. 1
85133016126. 2
85133016127.3
85133016128. 4

Question Number : 132 Question Id : 8513304035 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1T.H-1L,d-1L"H-1, G-IV
29 -1, d-1,°9-1V, G-I
3.9-1,d-1V,H-1l, G- |
4. 3-1,d-M,"H-1,q-1IV
Options :

85133016125. 1
85133016126. 2
85133016127. 3
85133016128. 4

Question Number : 133 Question Id : 8513304036 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following are true for sex linked inheritance in humans?

A. Males are considered to be hemizygous for genes present on X-chromosome

B. Majority of sex-linked traits are carried on the X-chromosome

C. Genes that are not sex- linked are present in somatic cells and absent in germ cells
D. 1:1 ratio of males and females in humans is a result of meiosis in males

E. The single X-chromosome present in the father is inherited by the son (male-to-male
transmission)

Choose the correct answer from the options given below:

1. A and B only

2. B and D only

3. A, Band Conly
4. B, D and E only
Options :
85133016129. 1
85133016130. 2
85133016131. 3
85133016132. 4

Question Number : 133 Question Id : 8513304036 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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3. haq 3, §auT g
4. HaqE, G aulg
Options :
85133016129. 1
85133016130. 2
85133016131. 3
85133016132. 4

Question Number : 134 Question Id : 8513304037 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement |: Cholesterol molecules present in the phospholipid bi layer maintain the fluidity
under different environmental conditions

Statement |I: Unsaturated fatty acid chains present in the phospholipid bilayer take up more
space thereby helping the membrane stay fluid

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

85133016133. 1

85133016134. 2

85133016135.3

85133016136. 4

Question Number : 134 Question Id : 8513304037 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133016133. 1

85133016134. 2

85133016135. 3

85133016136. 4

Question Number : 135 Question Id : 8513304038 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Genetic mutation

A.is a random and non-directed process

B. can be either spontaneous or induced

C. can occur in both somatic and germ cells

D. is an irreversible process

E. can vary in size from a single nucleotide to a large segment of a chromosome
Choose the correct answer from the options given below:

1.B, C and E only
2.B,C, D and E only
3. A, B, DandE only
4. A B, CandE only
Options :
85133016137. 1
85133016138.2
85133016139. 3
85133016140. 4

Question Number : 135 Question Id : 8513304038 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133016137. 1
85133016138. 2
85133016139. 3
85133016140 4

Question Number : 136 Question Id : 8513304039 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

176/199



9/18/2020

Arrange the following stages of ecological succession in the correct sequence
A. Invasion

B. Competition

C. Stabilization

D. Reaction

E. Nudation

Choose the correct answer from the options given below

1.EA CBD
2 A EBD,C
3.EABDC
4. A ED,BC
Options :

85133016141. 1
85133016142. 2
85133016143.3
85133016144. 4

Question Number : 136 Question Id : 8513304039 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133016141. 1
85133016142. 2
85133016143.3
85133016144. 4

Question Number : 137 Question Id : 8513304040 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 11

List | List 11
A. Matthew Meselson and Franklin Stahl|l. DNA is the genetic material

B. Alfred Hershey and Martha Chase ll. Semi-Conservative replication of DNA
C. Frederick Griffith lIl. “Transforming principle” in DNA
D. Avery, MacLeod and McCarty V. Discovery of pneumococcal transformation

Choose the correct answer from the options given below:

TA-ILB-N,C-1,D-1IV
2ZA-1LB-IV,C-1,D-1I
3A-IV,B-II,C-1II,D-1
4 A-ILB-1,C-1V,D-1
Options :

85133016145. 1
85133016146. 2
85133016147. 3
85133016148. 4

Question Number : 137 Question Id : 8513304040 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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4.3 -1, d-1,9- 1V, o-1l
Options :

85133016145. 1
85133016146. 2
85133016147. 3
85133016148. 4

Question Number : 138 Question Id : 8513304041 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following statements is true for viroids?

1. They infect only plants and consist of double stranded DNA enclosed by protein coat

2. They infect only animals and consist of single stranded RNA enclosed by protein coat

3. They infect only animals and consist of double-stranded RNA not enclosed by protein coat
4. They infect only plants and consist of single stranded RNA not enclosed by protein coat

Options :
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85133016149. 1
85133016150. 2
85133016151.3
85133016152. 4

Question Number : 138 Question Id : 8513304041 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133016149. 1

85133016150. 2

85133016151. 3

85133016152. 4

Question Number : 139 Question Id : 8513304042 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In an experiment, you measure the concentration of a polar molecule inside and outside the
cell and find that the concentration of this molecule is gradually increasing inside the cell. You
also measure the concentration of ATP inside the cell and find that it is dropping. Which of the
following processes are you likely to be observing?

1. Active transport

2. Facilitated diffusion
3. Osmosis

4. Passive transport
Options :
85133016153. 1
85133016154. 2
85133016155.3
85133016156. 4

Question Number : 139 Question Id : 8513304042 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133016153. 1
85133016154.2
85133016155.3
85133016156. 4
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Question Number : 140 Question Id : 8513304043 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Arrange the following human ancestors in increasing order of their brain size
A. Australopithecus

B. Homo habilis

C. Homo erectus

D. Homo sapiens

E. Homo neanderthalensis

Choose the correct answer from the options given below

1.B,E C,AD
2A CEDEB
3.D,B EAC
4 A B, CDE
Options :

85133016157. 1
85133016158. 2
85133016159. 3
85133016160. 4

Question Number : 140 Question Id : 8513304043 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133016157. 1
85133016158. 2
85133016159. 3
85133016160. 4

Question Number : 141 Question Id : 8513304044 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements
Statement |: The genetic constitution of a plant is unaffected in vegetative propagation
Statement lI: Totipotency of cells enables us to micropropagate plants

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

85133016161. 1

85133016162. 2

85133016163. 3

85133016164. 4

Question Number : 141 Question Id : 8513304044 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

185/199



9/18/2020

TR e RrmuE:
FY - | : SCRTD UAR © UIE BT o119 HH T daadl o

DY - || : DIADIAT DI GUIGRDAT HIZhURIUAIE P IS &Il § |
Sudad HYHl B H1ciie H FafiRad fadedl # 4 el IR 4 -

1. T HYA-| TUT HYH-Il T 5 |

2. GHFI BYF-1 JUT BYF-11 3TH B

3. BYF-1 A § , T Y- 3T o
4, Y- A ©, dich Y- A &
Options :

85133016161. 1

85133016162 2

85133016163. 3

85133016164 4

Question Number : 142 Question Id : 8513304045 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following are true about the ABO blood groupings in humans?

A. It is regulated by multiple alleles

B. It shows a total of six different genotypes but only four different phenotypes
C. AB blood type is an example of incomplete dominance

D. Persons with O-blood type are considered as universal acceptors

E. A person cannot have O-blood type if his mother has A-blood type and father has B blood
type

Choose the correct answer from the options given below:

1. B and E only
2. A and C only
3. A and B only
4. D and E only
Options :
85133016165. 1
85133016166. 2
85133016167.3
85133016168. 4

Question Number : 142 Question Id : 8513304045 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

187/199



9/18/2020

AMd H ABO Yad THE E B 3ae0 & -

3. 9g Y THId BT 380

4. 90 & SHICRY IR $ad IR &l {hrlerRy

. AB Y THE S YHd B 3aleU o

. O Yo UHE 94 Ul 5|

. gic HIal A 91 fUdl B Yad 97 &1 & o YdH &I O Iad 94g el ol God]
&y e fadedl # 4 Wl Iw I -

1. Padaaur g
2. haq A aUT g
3. Had A aUT §
4, HAA G aur g
Options :
85133016165. 1
85133016166. 2
85133016167. 3
85133016168. 4

Question Number : 143 Question Id : 8513304046 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following are true about the evolution of vertebrates?

A. The earliest vertebrates were cartilagenous fishes

B. Amphibians were the first amniotic vertebrates

C. Reptiles were the first vertebrates to have internal fertilization

D. Mammals and birds evolved the ability to regulate body temperature from the inside
E. Earliest amphibians evolved from jaw less fish ancestors

Choose the correct answer from the options given below:

1. A, Cand E only
2. A, Band Conly
3.Cand D only
4. D and E only
Options :
85133016169. 1
85133016170. 2
85133016171. 3
85133016172. 4

Question Number : 143 Question Id : 8513304046 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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T. el quT Tt = SdiRe agas FREu & fasrg faar
g, SRS IHTR (941 Tas & Jcd Yol 9 [dbiyd gu
feu U fdmedi & 4 9el S g -
1. ®ad o, §dur g
2. had 3, daul g
3. HAA AU g
4 HAAG U™
Options :
85133016169. 1
85133016170. 2

85133016171. 3
85133016172. 4

Question Number : 144 Question Id : 8513304047 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In root nodules of legumes, leg-haemoglobin is important because it

1. Facilitates oxygen supply to the root nodule

2. Protects nitrogenase enzyme from denaturation
3. Provides energy to the nitrogen fixing bacterium
4. Acts as a catalyst in transamination

Options :

85133016173. 1

85133016174. 2

85133016175.3

85133016176. 4

Question Number : 144 Question Id : 8513304047 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

H P oS M H A7 EHErE e Hewyyl aidT & Tl 78 ;

1. OIS M8 Bl AT U Bl &

2. ATSeIfod U= H &I %hH 54 U §amd 5|

3. ATZ2IoH RIS Siam] &f FHall 96H &dl 6
4, TOUHHRA ¥ 3R &1 &1 Sl 2

Options :

85133016173. 1

85133016174. 2

85133016175. 3

85133016176. 4

Question Number : 145 Question Id : 8513304048 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The reintroduction of Gangetic Gharial in the rivers of Uttar Pradesh, Madhya Pradesh and
Rajasthan, where it had become extinct, is an example of

1. In situ conservation
2. Ex situ conservation
3. In vivo conservation
4, Ex vivo conservation
Options :

85133016177. 1
85133016178. 2
85133016179. 3
85133016180. 4

Question Number : 145 Question Id : 8513304048 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T H TSI BT IR UG, He Wewl SR ISy H GG S8l d fage 8 Y Y Sl §

1. TR W&

2. U3 - g Tafm
3. 3 - dial W&
4, U - Tq41 WRem
Options :
85133016177. 1
85133016178. 2
85133016179. 3
85133016180. 4

Question Number : 146 Question Id : 8513304049 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 11

List |

List 1l

A. Tracheae

l. Pila

B. Pulmonary sac

Il. Mosquito larvae

C. Branchiostegal lung

IIl. Spider

D. Respiratory siphon

I\V. Crab

Choose the correct answer from the options given below:

T.A-LB-IV,C-1,D-1
2ZA-1LB-1,C-IV,D-1I
3A-ILB-IV,C-1,D-1I
4 A-ILB-IV,C-1I,D-1
Options :

85133016181. 1
85133016182. 2
85133016183. 3
85133016184. 4

Question Number : 146 Question Id : 8513304049 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ERTCIEER ] 11, Fa5Y gol
4. sfaifsTd e Il. A el

&, SR TeA V. W el

Rum e I W SR T

1.H-1, G-IV, -1, G-I
29 -1, d-1,89-1v, -l
3.9-1L,d-1vV, H-1, -1l
4.3 -1, d-1vV, "q-1ll, ¢ - |
Options :

85133016181. 1
85133016182. 2
85133016183. 3
85133016184. 4

Question Number : 147 Question Id : 8513304050 Question Type : MCQ Option Shuffling
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Restriction endonucleases are bacterial enzymes that cut double stranded DNA. These
restriction enzymes do not cut their own DNA because

1. The bacterium does not contain the specific recognition sequence

2. The DNA is packed with histones

3. The specific recognition sequences are masked with methyl groups
4. Restriction endonucleases cut viral DNA only

Options :
85133016185. 1

: No Display Question Number : Yes Is
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85133016186. 2
85133016187. 3
85133016188. 4

Question Number : 147 Question Id : 8513304050 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TR TSR TOoY U SfiaTy] TsH § S % o S1UA.E &1 B Godl ¢ g Siar &
ST DI 2 Bledl aifd -

1. SI1G10] Bl A=Y U< Y@e ol 3@dl

2, BT R Y Y Ea B

3. o9 ugdH Saar fyEd 34 9 3ald gl

4, TEIHH USHfaudS dhad aiaie 51U ®f $ledl 8l
Options :

85133016185. 1

85133016186. 2

85133016187. 3

85133016188. 4

Question Number : 148 Question Id : 8513304051 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: In England, during the Industrial Revolution, the black-colored form of Biston
betularia, became dominant over the light colored form of moth because of natural
selection, the darker forms were selected

Statement lI: Prior to the Industrial Revolution, the peppered moths exhibited protective
mimicry and the light-colored moths were not noticed by predatory birds due to light-colored
lichens on the bark of trees

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

85133016189. 1

85133016190. 2

85133016191. 3

85133016192. 4

Question Number : 148 Question Id : 8513304051 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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2. GHFI BYF-1 JUT BYF-11 3TH B

3. BY-1 9d § dfth- dYA-11 38T &

4, TYF-1 3Td ¢ i HY-1l T B

Options :

85133016189. 1

85133016190. 2

85133016191. 3
85133016192. 4

Question Number : 149 Question Id : 8513304052 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Extra-nuclear inheritance is a form of non-Mendelian inheritance in which a trait is transmitted
from the parent to offspring through non-chromosomal, cytoplasmic means. Through which of
the following ways does this phenomenon occur?

1. Intra cellular parasites residing as endosymbionts

2. Organelles that contain their own DNA

3. mRNA transcripts and proteins present in the cytoplasm
4. All of the above
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Options :
85133016193. 1
85133016194. 2
85133016195. 3
85133016196. 4

Question Number : 149 Question Id : 8513304052 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

qig-Y dRFTd Ud UbR &1 4 - Halfergd damild g1 fored SHE 0 dafd H SAURER oifRie
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Options :

85133016193. 1

85133016194. 2

85133016195. 3

85133016196. 4

Question Number : 150 Question Id : 8513304053 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In the genetic code, the stop codon that is named opal is

1. UAA
2 UGA
3. UAG
4. UGG
Options :
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85133016197. 1
85133016198. 2
85133016199. 3
85133016200. 4

Question Number : 150 Question Id : 8513304053 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

SHide Pl H iU BISH AU 8 -

1. UAA

2 UGA

3. UAG

4. UGG
Options :
85133016197. 1
85133016198. 2
85133016199. 3
85133016200. 4
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